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	 1-	fuEufyf[kr esa ls fdls ok;qeaMy ds çkÑfrd larqyu 
ds fy;s dkcZu MkbvkWDlkbM dh mi;ZqDr lkaærk ekuh 
tkrh gS\

	 (a)	 0-02 çfr'kr	 (b)	 0-03 çfr'kr

	 (c)	 0-04 çfr'kr	 (d)	 0-05 çfr'kr

	 2-	o"kkZ dh ek=kk fuHkZj djrh gS%
	 (a)	 gok ds ncko ij

	 (b)	 ok;qeaMy esa ueh ij

	 (c)	 ty&pØ ij

	 (d)	 rkiØe ij

	 3-	fuEufyf[kr esa ls dkSu lgh lqesfyr ugha gS\
	 (a)	 fo'o i;kZoj.k fnol	 &	 5 twu

	 (b)	 i`Foh fnol	 &	 22 vçSy

	 (c)	 rEckdw fu"ksèk fnol	 &	 5 ebZ

	 (d)	 vkstksu fnol	 &	 16 flrEcj

	 4-	gfjr x`g çHkko ls orkoj.k esa fuEufyf[kr esa ls dkSu&lk 
ifjorZu gksrk gS\

	 (a)	 ok;qeaMy esa dkcZu MkbvkDlkbM dh lkaærk c<+ 
tkrh gSA

	 (b)	 ok;qeaMy esa vkæZrk c<+ tkrh gSA

	 (c)	 thoèkkfj;ks dh la[;k c<+ tkrh gSA

	 (d)	 ok;q dh xfr c<+ tkrh gSA

	 5-	^lcds fy;s lrr ÅtkZ n'kd* igy gS%
	 (a)	 la;qDr jk"Vª la?k dk	 (b)	 Hkkjr dk

	 (c)	 teZuh dk	 (d)	 fo'o cSd dk

	 6-	Hkksiky xSl nq?kZVuk dk dkj.k Fkk%
	 (a)	 feFkkbZy vkblkslkbusV dk fjlko

	 (b)	 ukbVªkstu MkbZvkWDlkM dk fjlko

	 (c)	 lYiQj MkbZvkWDlkM dk fjlko

	 (d)	 dkcZu eksuksvkWDlkbM dk fjlko

	 7-	fuEufyf[kr esa ls dkSu&lk lqesfyr ugha gS\
	 	 çnw"kd		  gksus okyh chekjh

	 (a)	 ikjk	 &	 feukekVk chekjh

	 (b)	 dSMfe;e	 &	 bVkbZ &bVkbZ chekjh

	 (c)	 ukbVªsV vk;u	 &	 Cyw csch flaMªkse

	 (d)	 ÝyksjkbM vk;u	 &	 vip

	 8-	fuEufyf[kr esa fdl ifjfLFkfrdh; ra=k esa ikSèkksa dk 
tSfod inkFkZ vfèkdre gS\

	 (a)	 m".kdfVcaèkh; ir>M+ ou

	 (b)	 m".kdfVcaèkh; o"kkZ ou

	 (c)	 'khrks".k ir>M+ ou

	 (d)	 jsfxLrkuh >kfM;k¡

	 1.	 Which of the following is considered to be the 
optimum concentration of carbon dioxide for 
natural balance in atmosphere?

	 (a)	 0.02 percent	 (b)	 0.03 percent
	 (c)	 0.04 percent	 (d)	 0.05 percent
	 2.	 Amount of rain depends on :
	 (a)	 Air pressure
	 (b)	 Humidity in atmosphere
	 (c)	 Water cycle
	 (d)	 Temperature
	 3.	 Which one of the following is not correctly 

matched?
	 (a)	 World Environment day	–	 5th June
	 (b)	 Earth day	 –	 22nd April
	 (c)	 Anti – tobacco day	 –	 5th May
	 (d)	 Ozone day	 –	 16th September
	 4.	 Which one of the following atmospheric changes 

takes place due to green house effect?
	 (a)	 Increase in carbon dioxide concentration in 

atmosphere
	 (b)	 Increase in humidity in atmosphere
	 (c)	 Increase in biological population
	 (d)	 Increase in wind speed
	 5.	 ‘The Decade of Sustainable Energy for All’ is the 

initiative of :
	 (a)	 United Nations	 (b)	 India
	 (c)	 Germany	 (d)	 World Bank
	 6.	 Bhopal Gas Tragedy was caused due to the leakage 

of :
	 (a)	 Methyl Isocynate
	 (b)	 Nitrogen dioxide
	 (c)	 Sulphur dioxide
	 (d)	 Carbon monoxide
	 7.	 Which one of the following is not correctly 

matched?
		  Pollutant	 –	 Disease caused
	 (a)	 Mercury	 –	 Minamata disease
	 (b)	 Cadmium	 –	 Itai–Itai disease
	 (c)	 Nitrate Ion	 –	 Blue baby syndrome
	 (d)	 Fluoride Ion	 –	 Indigestion
	 8.	 Which one of the following ecosystems has 

maximum plant bio-mass?
	 (a)	 Tropical deciduous forest
	 (b)	 Tropical rain forest
	 (c)	 Temperature deciduous forest
	 (d)	 Desert shrubs
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	 9-	Hkkjr ljdkj us ou laj{k.k vfèkfu;e fdl o"kZ esa 

vfèkfu;fer fd;k\

	 (a)	 1976 esa	 (b)	 1980 esa

	 (c)	 1983 esa	 (d)	 1988 esa

	 10-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk lgh mÙkj 

lwfp;ksa ds uhps fn, x, dwV ls pqfu;s%

		  lwph&I		 lwph&II

	 A.	 m".kdfVcaèkh; ou	 1-	lqanj ou

	 B.	 'kadqo`{k ou	 2-	fgekpy çns'k

	 C.	 dPN ouLifr	 3-	jktLFkku

	 D.	 ir>M+ ou	 4-	lkbysaV oSyh

	 dwV%

		  A	 B	 C	 D
	 (a)	 1	 2	 4	 3

	 (b)	 2	 1	 4	 3

	 (c)	 1	 4	 2	 3

	 (d)	 4	 2	 1	 3

	11-	tSo fofoèkrk dks vfèkdre ladV gS%

	 (a)	 çkÑfrd fuokl ,oa ouLifr;ksa ds fouk'k ls

	 (b)	 vuqi;qDr Ñf"k fØ;kvksa ls

	 (c)	 tyok;q ifjorZu ls

	 (d)	 ty çnw"k.k ls

	12-	fuEufyf[kr esa ls dkSu ls tyok;q ifjorZu ds çeq[k 

dkjd gS\

	 1-	 thokf'ed b±èku dk vfèkdkfèkd çToyu

	 2-	 rSy pkfyr Lopkfyrksa dh la[;k foLiQksVu

	 3-	 lkSj&èkèkd esa o`f}

	 4-	 vR;fèkd ouksaewyu

	 	uhps fn;s x, dwV }kjk lgh mÙkj pqfu;s%

	 dwV%

	 (a)	 dsoy 2 rFkk 3	 (b)	 dsoy 1] 2 rFkk 4

	 (c)	 1] 2] 3 rFkk 4	 (d)	 dsoy 1 rFkk 4

	13-	fuEufyf[kr esa ls dkSu lk lqesfyr ugha gS\

		  u=ktu fLFkjhdj.k dkjd		  iQly

	 (a)	 uhy gfjr 'kSoky	 &	 èkku

	 (b)	 jkbtksfc;e ysX;wfefulkje	 &	 eVj

	 (c)	 ,tksVks cSDVj	 &	 xsgw¡

	 (d)	 vtksyk	 &	 eDdk

	 9.	 The Government of India enacted the Forest 
Conservation Act in the year :

	 (a)	 1976	 (b)	 1980

	 (c)	 1983	 (d)	 1988

	 10.	 Match List I with List II and select the correct 
answer using the code given below the lists :

		  List – I		  List – II

	 A.	 Tropical forest	 1.	 Sunderbans

	 B.	 Conifer forest	 2.	 Himachal Pradesh

	 C.	 Mangroves	 3.	 Rajasthan

	 D.	 Deciduous forest	 4.	 Silent Valley
		  Codes :

		  A	 B	 C	 D

	 (a)	 1	 2	 4	 3

	 (b)	 2	 1	 4	 3

	 (c)	 1	 4	 2	 3

	 (d)	 4	 2	 1	 3

	 11.	 Biodiversity has maximum danger from
	 (a)	 destruction of natural habitats and vegetation

	 (b)	 Improper agricultural operations

	 (c)	 Climate change

	 (d)	 Water pollution

	 12.	 Which of the following are the primary causes of 
climate change?

	 1.	 Excessive burning of fossil fuels

	 2.	 Exploding numbers of automobiles driven 
by oil

	 3.	 Increasing solar flares

	 4.	 Heavy deforestation

		  Select the correct answer using the code given 
below :

		  Codes :
	 (a)	 2 and 3 only	 (b)	 1, 2 and 4 only

	 (c)	 1, 2, 3 and 4	 (d)	 1 and 4 only

	 13.	 Which one of the following is not correctly 
matched?

	 	 Nitrogen fixing agent	 –	 Crop

	 (a)	 Blue green algae	 –	 Paddy

	 (b)	 Rhizobium Leguminisarum	 –	 Pea

	 (c)	 Azotobacter	 –	 Wheat

	 (d)	 Azolla	 –	 Maize
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	14-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk uhps fn, 

dwV ls lgh mÙkj pqfu;s%

		  lwph&I		 lwph&II

	 A.	 U;kkf;d iqujh{k.k	 1-	61ok¡ la'kksèku

	 	 'kfDr dk ifjlheu

	 B.	 laifÙk ds vfèkdkjksa	 2-	42ok¡ la'kksèku

	 	 dks ekSfyd vfèkdkjksa

	 	 ls gVk;k tkuk

	 C.	 erkfèkdkj dh vk;q	 3-	38ok¡ la'kksèku

	 	 21 o"kZ ls 18 o"kZ

	 	 ?kVk;k tkuk

	 D.	 mísf'kdk esa iaFk fujis{k	 4-	44ok¡ la'kksèku

	 	 'kCn dk tksM+k tkuk

	 dwV%
		  A	 B	 C	 D
	 (a)	 1	 2	 4	 3
	 (b)	 2	 4	 1	 3
	 (c)	 3	 4	 1	 2
	 (d)	 4	 1	 3	 2

	15-	Hkkjr o vesfjdh jktuhfrd O;oLFkkvks ds chp 

fuEufyf[kr esa ls dkSu&lh fo'ks"krk,¡ leku gS%

	 1-	 vof'k"V 'kfDr;k¡ dsaæ ds ikl gSaA

	 2-	 vof'k"V 'kfDr;k¡ jkT;ksa ds ikl gSaA

	 3-	 jk"Vªifr ds ikl ikWdsV ohVksa dh 'kfDr gSA

	 4-	 mPp lnu esa dqN euksuhr lnL; gksrs gSaA

	 (a)	 dsoy 3	 (b)	 dsoy 3 rFkk 4

	 (c)	 dsoy 2] 3 rFkk 4	 (d)	 dsoy 1] 3 rFkk 4

	16-	Hkkjrh; lafoèkku esa ¶jkT;ksa dk la?k¸ dh ladYiuk dks 

çkIr fd;k x;k gS%

	 (a)	 vesfjdk ds lfoaèkku ls

	 (b)	 vkWLVªsfy;k ds lfoaèkku ls

	 (c)	 fczfV'k ukFkZ vesfjdh vfèkfu;e ls

	 (d)	 fLoV~jtjySaM ds lfoaèkku ls

	17-	yksdlHkk dk vfèkos'ku xfBr djus gsrq x.kiwfrZ (dksje) 

fdruh gS

	 (a)	 lnu ds lnL;ksa dh dqy la[;k dk NBok¡ Hkkx

	 (b)	 lnu ds lnL;ksa dh dqy la[;k dk nlok¡ Hkkx

	 (c)	 lnu ds lnL;ksa dh dqy la[;k dk pkSFkk Hkkx

	 (d)	 lnu ds lnL;ksa dh dqy la[;k dk rhljk Hkkx

	 14.	 Match List I with List II and select the correct 
answer from the code given below :

		  List I		  List II

	 A.	 Curtailment of the	 1.	 61st Amendment

		  power judicial review

	 B.	 Abolition of Right	 2.	 42nd Amendment

		  to property as a

		  fundamental right

	 C.	 Lowering the voting	 3.	 38th Amendment

		  age from 21 to 18

	 D.	 Addition of the	 4.	 44th Amendment

		  word secular in

		  the preamble

		  Codes :
		  A	 B	 C	 D

	 (a)	 1	 2	 4	 3

	 (b)	 2	 4	 1	 3

	 (c)	 3	 4	 1	 2

	 (d)	 4	 1	 3	 2

	 15.	 Of the following political features, which is/are 
common to India and the USA.

	 1.	 Residuary powers vested in the centre.

	 2.	 Residuary powers vested in the states.

	 3.	 President has the power of pocket veto.

	 4.	 The upper house has some nominated 
members.

	 (a)	 3 only	 (b)	 3 and 4 only

	 (c)	 2, 3 and 4 only	 (d)	 1, 3 and 4 only

	 16.	 The concept of ‘A Union of States in the Indian 
Constitution” has been derived from :

	 (a)	 The American Declaration of Independence

	 (b)	 The Australian Constitution

	 (c)	 The British North – American Act

	 (d)	 The Swiss Constitution

	 17.	 What is the quorum to constitute a meeting of Lok 
Sabha?

	 (a)	 One sixth of the total members of the House

	 (b)	 One tenth of the total members of the House

	 (c)	 One fourth of the total members of the House

	 (d)	 One third of the total members of the House
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	18-	fuEufyf[kr esa ls dkSu ljdkfj;k vk;ksx dk lnL; 
Fkk\

	 (a)	 oh- 'kadj	 (b)	 ds- guqeUrSÕ;k

	 (c)	 MkW- ,l- vkj- lsu	 (d)	 vks- oh- vyxslu

	19-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk uhps fn, 
x, dwV ls lgh mÙkj pqfu;s%

		  lwph&I		  lwph&II
		  (jkT;)		�  (jkT; lHkk ds jkT; lnL;ksa 

dh la[;k)

	 A.	 xqtjkr	 1-	 9

	 B.	 dukZVd	 2-	 11

	 C.	 dsjy	 3-	 12

	 D.	 vksfM'kk	 4-	 10

	 dwV%
		  A	 B	 C	 D
	 (a)	 1	 4	 3	 2
	 (b)	 3	 2	 4	 1
	 (c)	 2	 3	 1	 4
	 (d)	 1	 2	 3	 4

	20-	uhps nks oDrO; fn;s x;s gSa%
	 	vfHkdFku (A) % pquko dh ?kks"k.kk gksrs gh jktuSfrd 

nyksa dks vkn'kZ vpkj lafgrk dk ikyu djuk gksrk gSA
	 	dkj.k (R) % vkn'kZ vpkj lafgrk dks laln us vf?kfu;e 

fd;k FkkA
	 	uhps fn, x, dwV ls lgh mÙkj dk p;u dhft;s%
	 dwV%

	 (a)	 (A) o (R) nksuksa lR; gS rFkk (R) dFku (A) 
dk lgh Li"Vhdj.k gSA

	 (b)	 (A) o (R) nksuksa lR; gS] ij (R) dFku (A) 
dk lgh Li"Vhdj.k ugha gSA

	 (c)	 (A) lR; gS] ij (R) vlR; gSA

	 (d)	 (A) vlR; gS] ij (R) lR; gSA
	21-	uhps nks dFku fn, x, gSa%
	 	vfHkdFku (A) % Hkkjr esa U;kf;d iqujh{k.k dk {ks=k 

flfer gSA
	 	dkj.k (R) % Hkkjrh; lfoèkku esa dqN ¶mèkkj dh 

oLrq,¸ gSA
	 	lgh dk p;u uhps fn, x, dwV dh lgk;rk ls djsaA
	 	dwV %
	 (a)	 (A) vkSj (R) nksuksa lR; gS vkSj (R), (A) dk 

lgh Li"Vhdj.k gSA

	 (b)	 (A) vkSj (R) nksuksa lR; gS ysfdu (R) (A) dk 
lgh Li"Vhdj.k ugha gSA

	 (c)	 (A) lgh gS rFkk (R) xyr gSA
	 (d)	 (A) xyr gS rFkk (R) lgh gSA

	 18.	 Who among the following was a member of 
Sarkaria Commission?

	 (a)	 V. Shankar	 (b)	 K.Hanumanthaiah
	 (c)	 Dr. S.R.Sen	 (d)	 O.V.Algesan
	 19.	 Match the List I with List II and select the correct 

answer from the code given below :
		  List I		  List II
		  (States)		�  (No. of members in 

Rajyasabha)
	 A.	 Gujarat	 1.	 9
	 B.	 Karnataka	 2.	 11
	 C.	 Kerala	 3.	 12
	 D.	 Odisha	 4.	 10
		  Codes :

		  A	 B	 C	 D
	 (a)	 1	 4	 3	 2
	 (b)	 3	 2	 4	 1
	 (c)	 2	 3	 1	 4
	 (d)	 1	 2	 3	 4

	 20.	 Given below are two statements:
	 	 Assertion (A) : Model code of conduct is to be 

followed by political parties as soon as an election 
is announced.

	 	 Reason (R) : Mode code of conduct was enacted 
by Parliament.

		  Choose the correct answer from the code given 
below :

		  Codes :
	 (a)	 Both (A) and (R) are correct and (R) is the 

correct explanation of (A)
	 (b)	 Both (A) and (R) are true but (R) is not the 

correct explanation of (A)
	 (c)	 (A) is true, but (R) is false.
	 (d)	 (A) is false, but (R) is true.
	 21.	 Given below are two statements :
	 	 Assertion (A) : The scope of judicial review is 

limited in India.
	 	 Reason (R) : Indian constitution has some 

borrowed items.
		  Select the right answer from the code given below:
		  Codes :
	 (a)	 Both (A) and (R) are correct and (R) is the 

right explanation of (A)
	 (b)	 Both (A) and (R) are correct but (R) is not 

the correct explanation of (A)
	 (c)	 (A) is correct, but (R) is wrong.
	 (d)	 (A) is wrong, but (R) is correct.
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	22-	Hkkjrh; lafoèkku dh r`rh; vuqlwph esa fuEu esa ls D;k 
micfUèkr gS\

	 1-	 la?k ds ea=kh d fy;s in dh 'kiFk dk çk:i

	 2-	 mPpre U;k;y; ds eq[; U;k;kèkh'k }kjk yh 
tkus okyh çk:iA

	 3-	 Hkkjr ds jk"Vªifr ds fy;s in dh 'kiFk dk 
çk:i

	 4-	 laln ds lnL; }kjk yh tkus okyh 'kiFk dk 
çk:i

	 	uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 1] 2] 3	 (b)	 2] 3] 4
	 (c)	 1] 2] 4	 (d)	 1] 2] 3] 4
	23-	^çksVse Lihdj* lkekU;r% fdls fu;qDr fd;k tkrk gS\
	 (a)	 fiNyh yksd lHkk ds vè;{k dks

	 (b)	 fiNyh yksdlHkk ds mikè;{k dks

	 (c)	 uo&fuokZfpr yksdlHkk ds ofj"Bre lnL;ksa esa 
ls ,d dks

	 (d)	 fiNyh yksdlHkk ds foi{k ds usrk dks

	24-	¶cqyd dSfiVfyLV¸ (cSy&iw¡thifr) fdls dgk tkrk 
gS\

	 (a)	 xjhc fdlkuksa dksA

	 (b)	 èkuk<~; fdlkuksa dksaA

	 (c)	 mu fdlkuksa dks ftuds ikl dqN lkèku rks gS 
ij èkuk<~; ugha gSA

	 (d)	 mu fdlkuksa dks tks cM+s tehankj gSA

	25-	jkT;lHkk dk loZçFke xBu fdl o"kZ esa gqvk\
	 (a)	 1950 esa	 (b)	 1951 esa
	 (c)	 1952 esa	 (d)	 1953 esa
	 26-	fuEufyf[kr esa ls dkSu varjkZT; ifj"kn xBu djus ds 

fy;s vfèkÑr gS\
	 (a)	 laln

	 (b)	 jk"Vªifr

	 (c)	 yksdlHkk ds vè;{k

	 (d)	 çèkkuea=kh

	27-	fuEufyf[kr esa ls dkSu lgh lqesfyr ugha gS\
	 (a)	 uhfr fuuqeksnu	&	 ctV dh ek¡x dks ?kVkdj 	

çLrko	 	 ,d #i;k dj fn;k tk,

	 (b)	 ferO;f;rk	 &	 ctV dh ek¡x esa ls ,d 	
çLrko	 	 fufnZ"V jkf'k ?kVk fn, tk,

	 (c)	 lkadsfrd	 &	 ctV dh ek¡x esa ls ,d lkS 	
çLrko	 	 #i, de dj fn;s tk,

	 (d)	 ys[kkuqnku	 &	 ctV ek¡xksa dks iw.kZ :i ls 	
	 	 �foÙkh; o"kZ ds fy;s ikfjr 

djuk

	 22.	 Which of the following are enshrined in the third 
schedule of the Indian Constitution?

	 1.	 Form of oath of office for a Minister for the 
Union.

	 2.	 Form of oath to be made by the Chief Justice 
of Supreme Court.

	 3.	 Form of oath of office for the President of 
India.

	 4.	 Form of oath to be made by a Member of 
Parliament.

		  Select the correct answer using the code given 
below :

		  Codes :
	 (a)	 1, 2, 3	 (b)	 2, 3, 4
	 (c)	 1,2,4	 (d)	 1,2,3,4
	 23.	 Who is generally appointed as a Protem Speaker?
	 (a)	 The speaker of the outgoing Loksabha
	 (b)	 The Dy.Speaker of the outgoing Loksabha
	 (c)	 One of the senior most members of the newly 

elected Loksabha
	 (d)	 The leader of the opposition party in the 

outgoing Loksabha
	 24.	 What is meant by a Bullock – Capitalist?
	 (a)	 Farmers who are poor
	 (b)	 Farmers who are rich
	 (c)	 Farmers who have some resources but are 

not rich
	 (d)	 Farmers who are big Zamindars
	 25.	 In which year was Rajya Sabha constituted for the 

first time?
	 (a)	 1950	 (b)	 1951
	 (c)	 1952	 (d)	 1953
	 26.	 Who among the following is empowered to 

establish the inter state council?
	 (a)	 Parliament
	 (b)	 President
	 (c)	 Speaker of Loksabha
	 (d)	 Prime Minister
	 27.	 Which one of the following is not correctly 

matched?
	 (a)	 Policy cut	 –	 Budget demand be 	

Motion		  reduced to ₹ one
	 (b)	 Economy cut	 –	 Budget demand be 	

Motion		�  reduced by a specified 
amount.

	 (c)	 Token cut	 –	 Budget demand be 	
Motion		�  reduced by rupees one 

hundred
	 (d)	 Vote on	 –	 Parliamentary sanction 	

Account		�  of all budgetary demands 
for grants in a financial 
year.
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	28-	fuEufyf[kr dFkuksa ij fopkj dhft;s vkSj uhps fn, 
x, dwV ls lgh mÙkj pqfu;s

	 	dFku (A) % Hkkjr ,d yksdrkaf=kd ns'k gSA
	 	dkj.k (R) % Hkkjr dk viuk ,d lfoaèkku gSA
	 dwV%

	 (a)	 (A) vkSj (R) nksuksa lR; gSa rFkk (R), (A) dh 
lgh O;k[;k gSA

	 (b)	 (A) rFkk (R) nksuksa lgh gSa ysfdu (R), (A) 
dk lgh O;k[;k ugha gSA

	 (c)	 (A) lgh gS] ijUrq (R) xyr gSA
	 (d)	 (A) rFkk (R) nksuksa xyr gSA
	29-	fuEufyf[kr esa ls dkSu laln lnL;ksa dk lkewfgd 

fo'ks"kkfèkdkj ugha gS\
	 (a)	 ppkZ ,oa çfd;k dh Lora=krk

	 (b)	 laln ds vkarfjd fo"k;ksa ds lapkyu dk vfèkdkj

	 (c)	 lk{kh ds #i es mifLFkfr ls Lora=krk

	 (d)	 vifjfprks a dks lnu ls ckgkj j[kus dk 
fo'ks"kfèkdkj

	30-	fuEufyf[kr dFkuksa ij fopkj dhft;s vkSj uhps fn, 
x, dwV ls lgh mÙkj pqfu;s%

	 1-	 jkT;iky dks mPp U;k;ky; ds U;k;kèkh'k dh 
fu;qfDr dk vfèkdkj ugha gSA

	 2-	 og foèkkueaMy dk fgLlk ugha gSA

	 3-	 mUgsa foèkku ifj"kn esa dqN lnL;ksa dks euksuhr 
djus dk vfèkdkj gSA

	 4-	 muds ikl dksbZ U;kf;d 'kfDr ugha lgh gSA

	 dwV %

	 (a)	 1 rFkk 2 lgh gS	 (b)	 1 rFkk 3 lgh gS
	 (c)	 2 rFkk 4 lgh gS	 (d)	 lHkh lgh gS
	31-	fuEufyf[kr esa ls dkSu lafoèkku ds vuqPNsn 21 ds 

nk;js esa ugha vkrk gS\
	 (a)	 ,d fpfdRld }kjk ?kk;y dks fpfdRLdh; 

lgk;rk

	 (b)	 dk;ZLFky ij efgykvksa dk ySafxd mRihM+u

	 (c)	 ikuh dh xq.koÙkk dks nwf"kr djuk

	 (d)	 e`R;qn.M

	32-	fuEukafdr esa dkSu&lk ,d {ks=kh; ifj"knkssa dk y{k.k ugha 
gS\

	 (a)	 ;g ,d laoSSèkkfud laLFkk gS

	 (b)	 ik¡p {ks=kh; ifj"knksa dh LFkkiuk jkT;ksa ds iquxZBu 
vfèkfu;e 1956 ds vUrxZr dh x;h gSA

	 (c)	 ;|fi p.Mhx<+ jkT; ugha gS fiQj Hkh ,d {ks=kh; 
ifj"kn esa 'kkfey fd;k x;k gSA

	 (d)	 ;g ,d ijke'kZnk=kh laLFkk gSA

	 28.	 Consider the following statements and choose the 
correct answer by using the codes given below :

		  Assertion (A) : India is a democratic country.
		  Reason (R) : India has a constitution of its own
		  Codes :
	 (a)	 Both (A) and (R) are true and (R) is the 

correct explanation of (A)
	 (b)	 Both (A) and (R) are true but (R) is not the 

correct explanation of (A)
	 (c)	 (A) is true but (R) is false
	 (d)	 Both (A) and (R) are false
	 29.	 Which one of the following is not a collective 

privilege of the members of Parliament?
	 (a)	 Freedom of debates and proceedings
	 (b)	 The Right to regulate the internal matters of 

the Parliament
	 (c)	 Freedom from attendance as Witness
	 (d)	 The privilege of excluding strangers from 

the house
	 30.	 Consider the following statements and select your 

answer from the codes given below :
	 1.	 The Governor does not have the power to 

appoint the judge of a State High court.
	 2.	 He is not a part of the Legislature.
	 3.	 He has the power to nominate some members 

in the Legislative Council.
	 4.	 He has no judicial powers.
		  Codes :
	 (a)	 1 and 2 are correct	 (b)	 1 and 3 are correct
	 (c)	 2 an 4 are correct	 (d)	 All are correct
	 31.	 Which one of the following does not fall within 

the purview of Article 21 of the Constitution?
	 (a)	 Medical aid to injured by a doctor.
	 (b)	 Sexual Harassment of Women at work place
	 (c)	 Pollution of the quality of water
	 (d)	 Capital punishment
	 32.	 Which one of the following is not a feature of a 

zonal council?
	 (a)	 It is a constitutional body
	 (b)	 Five Zonal Councils have set up under the 

States Reorganization Act, 1956
	 (c)	 Chandigarh although not a state is included 

in Zonal Council
	 (d)	 It is an Advisory body
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	33-	vdcj ds 'kkludky esa nDDu esa fuEu i¼fr;ksa esa ls 
dkSu&lk Hkw&jktLo olwyh dk çpfyr vkèkkj Fkk\

	 (a)	 dudwV	 (b)	 gy dh la[;k

	 (c)	 tCr	 (d)	 xYykc['kh

	34-	fuEu fons'kh ;kf=k;ksa esa ls fdlus tgk¡xhj ds 'kklu 
dky esa Hkkjr dh ;k=kk dh Fkh\

	 (a)	 iQknj ,aFkksuh ekaljsV

	 (b)	 ÚkaflLdks iYlVZ

	 (c)	 fudksyks euqDdh

	 (d)	 ÚaDok;l ofuZ;j

	35-	fuEufyf[kr dFkuksa ij fopkj dhft;s vkSj uhps fn, 
x, dwV ls lgh mÙkj pqfu;s%

	 	dFku (A) % fczfV'k dky esa lkekU;r% Hkkjr dk O;kikj 
larqyu vuqdwy FkkA

	 	dkj.k (R) % èku dh fudklh dk Lo:i vçfriQfyr 
fu;kZr FkkA

	 dwV %

	 (a)	 (A) rFkk (R) nksuksa lgh gS rFkk (R), (A) dh 
lgh O;k[;k gSA

	 (b)	 (A) rFkk (R) nksuksa lgh gS ijUrq (R), (A) dh 
lgh O;k[;k ugha gSA

	 (c)	 (A) lgh gS] ij (R) xyr gSA

	 (d)	 (A) xyr gS] ij (R) lgh gSA

	36-	½Xosn esa dbZ ifjPNsnksa esa ç;qDr ^v?kU;* 'kCn lanfHkZr 
gS %

	 (a)	 iwtkjh ds fy;s	 (b)	 L=kh ds fy;s

	 (c)	 xk; ds fy;s	 (d)	 czkã.k ds fy;s

	37-	fuEufyf[kr esa ls fdl 'kSyÑr xqiQk esa X;kjg fljksa ds 
cksfèklRo dk vadu feyrk gS\

	 (a)	 vtUrk	 (b)	 ,yksjk

	 (c)	 dUgsjh	 (d)	 dkyZs

	 38-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 if'pe xksnkokjh ftys ds xqaVqiQYyh esa çkjkfEHkd 
pSR;xzg vkSj fogkj pV~Vkuksa dks dkVdj cuk;s 
x;s gSA

	 2-	 iwohZ nDdu ds pSR; vkSj fogkj lkèkkj.kr; 
pV~Vkuksa dks dkVdj cuk;s x;s gSA

	 	bu dFkuksa esa ls

	 (a)	 dsoy 1 lgh gSA

	 (b)	 dsoy 2 lgh gSA

	 (c)	 1 rFkk 2 nksuksa lgh gSA

	 (d)	 u rks 1 lgh gS vkSj u rks 2 lgh gSA

	 33.	 Which among the following system of levying land 
revenue in Deccan was prevalent during the reign 
of Akbar?

	 (a)	 Kankut	 (b)	 Number of ploughs

	 (c)	 Zabt	 (d)	 Ghallabakshi

	 34.	 Who among the following foreign travellers visited 
India during the reign of Jahangir?

	 (a)	 Father Anthony Monserate

	 (b)	 Francisco Pelsaert

	 (c)	 Niccolo Manucci

	 (d)	 Francois Bernier

	 35.	 Consider the following statements and select the 
correct answer from the codes given below the 
statements :

		  Assertion (A): Generally India had a favourable 
balance of trade during the British rule.

		  Reason (R): The drain of wealth took the form of 
unrequited exports.

		  Codes :
	 (a)	 Both (A) and (R) are true and (R) is the 

correct explanation of (A).

	 (b)	 Both (A) and (R) are true but (R) is not the 
correct explanation of (A).

	 (c)	 (A) is true but (R) is false.

	 (d)	 Both (A) and (R) are false.

	 36.	 The name ‘Aghanya’ mentioned in many passages 
of the Rig Veda refers to :

	 (a)	 Priest	 (b)	 Women

	 (c)	 Cows	 (d)	 Brahmanas

	 37.	 In which of the following rock-cut caves eleven 
headed Bodhisattva image is depicted?

	 (a)	 Ajanta	 (b)	 Ellora

	 (c)	 Kanheri	 (d)	 Karle

	 38.	 Consider the following statements:
	 1.	 The early chaityagrihas and viharas of 

Guntuphalli in West Godavari district are 
rock cut.

	 2.	 The chaityas and viharas of Eastern deccan 
are usually rock cut.

		  Of these statements :
	 (a)	 Only 1 is correct

	 (b)	 Only 2 is correct

	 (c)	 Both 1 and 2 are correct

	 (d)	 Neither 1 nor 2 is correct
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	39-	jkT; lHkk }kjk lfoèkku ds vuqPNsan&249 ds varxZr 
ikfjr ladYi ftlds }kjk laln dk jkT; lwph ds fo"k; 
ij jk"Vªh; fgr esa fofèk fufeZr djus dk vfèkdkj fn;k 
x;k gks] ço`Ùk jgsxk

	 (a)	 Ng ekg ls vfèkd ugha

	 (b)	 nks ekg ls vfèkd ugha

	 (c)	 ,d ns'k ls vfèkd ugha

	 (d)	 vlhfer dky

	40-	cjkcj igkMh dh xqiQkvksa ds fo"k; esa fuEu esa ls dkSu 
,d lgh ugha gS\

	 (a)	 cjkcj igkM+h ij dqy pkj xqiQk,¡ gSaA

	 (b)	 rhu xqiQkvksa dh fnokj ij v'kksd ds vfHkys[k 
mRdh.kZ gSaA

	 (c)	 ;s vfHkys[k bu xqiQkvksa dks vkthfodkvksa dks 
lefiZr gksus dk mYys[k djrs gSA

	 (d)	 ;s vfHkys[k bZlk iwoZ NBh 'krkCnh ds gSA

	41-	NBh 'krkCnh bZ- iw- dk eRL; egktuin fLFkr Fkk%

	 (a)	 if'peh mÙkj çns'k esa

	 (b)	 jktLFkku esa

	 (c)	 cqansy[k.M esa

	 (d)	 :gsy[k.M esa

	 42-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk lwfp;ksa ds 
uhps fn, x, dwV ls lgh mÙkj pqfu;s%

		  lwph&I		 lwph&II

	 A.	 xkaèkkj dyk	 1-	feus.Mj

	 B.	 twukx<+ f'kykys[k	 2-	ifrd

	 C.	 fefyUniUgks	 3-	dq"kk.k

	 D.	 r{kf'kyk ys[k	 4-	:æeu I
	 dwV%

		  A	 B	 C	 D
	 (a)	 1	 3	 4	 2
	 (b)	 2	 4	 3	 1
	 (c)	 3	 4	 1	 2
	 (d)	 2	 1	 3	 4

	43-	^tkSuiqj jkT;* dk vafre 'kkld dkSu Fkk\

	 (a)	 eqgEen 'kkg	 (b)	 gqlSu 'kkg

	 (c)	 eqckjd 'kkg	 (d)	 bczkfge 'kkg

	44-	fuEufyf[kr esa ls dkSu&lk ;qXe lqesfyr ugha gSa\

	 (a)	 gsDVj equjks	 &	 cDlj dk ;qq}

	 (b)	 ykWMZ gsfLVaXl	 &	 vkaXy&usiky ;q}

	 (c)	 ykWMZ osystyh	 &	 prqFkZ vkaXy&eSlwj ;q}

	 (d)	 ykWMZ dkuZokfyl	 &	 r`rh; vkaXy&ejkBk ;q}

	 39.	 A resolution passed by the Rajya Sabha under 
Article 249 of the constitution empowering 
Parliament to legislate on a state subject in national 
interest remains in force for a period.

	 (a)	 Not exceeding six months
	 (b)	 Not exceeding two years
	 (c)	 Not exceeding one year
	 (d)	 of unlimited time
	 40.	 Which one of the following is not true about the 

Barabar hill caves?
	 (a)	 There are in all four caves on the Barabar 

hill
	 (b)	 Inscriptions of Ashoka are found on the walls 

of three caves
	 (c)	 These inscriptions inform us about the 

dedication of these caves to the Ajivikas
	 (d)	 These inscriptions date back to 6th century 

BC.
	 41.	 Matsya Mahajanapada of 6th century B.C was 

located in :
	 (a)	 Western Uttar Pradesh
	 (b)	 Rajasthan
	 (c)	 Bundelkhand
	 (d)	 Rohilkhand
	 42.	 Match List-I with List-II and select the correct 

answer using the code given below :
		  List I		  List II
	 A.	 Gandhar Art	 1.	 Menander
	 B.	 Junagarh Rock	 2.	 Patika
		  inscription
	 C.	 Milinapanho	 3.	 Kushanas
	 D.	 Taxila inscriptions	 4.	 Rudradaman I
		  Codes :

		  A	 B	 C	 D
	 (a)	 1	 3	 4	 2
	 (b)	 2	 4	 3	 1
	 (c)	 3	 4	 1	 2
	 (d)	 2	 1	 3	 4

	 43.	 Who was the last ruler of ‘Jaunpur state’?
	 (a)	 Mohammed Shah	 (b)	 Hussain Shah
	 (c)	 Mubarak Shah	 (d)	 Ibrahim Shah
	 44.	 Which of the following pairs is not correctly 

matched?
	 (a)	 Hector Munro	 –	 Battle of Buxar
	 (b)	 Lord Hastings	 –	 Anglo–Nepal War
	 (c)	 Lord Wellesley	 –	� Fourth Anglo Mysore 

War
	 (d)	 Lord Cornwallis	 –	� Third Anglo–Maratha 

War
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	45-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk uhps fn;s 
x, dwV ls lgh mÙkj pqfu;s %

	 	 lwph&I		 lwph&II

		  (rhFk±dj)		 (çfrek y{k.k)

	 A.	 vkfnukFk	 1-	o`"kHk

	 B.	 efYyukFk	 2-	v'o

	 C.	 ik'oZukFk	 3-	liZ

	 D.	 lEHkoukFk	 4-	ty&dy'k

	 dwV%
		  A	 B	 C	 D
	 (a)	 1	 4	 3	 2
	 (b)	 1	 3	 2	 4
	 (c)	 2	 4	 3	 1
	 (d)	 3	 1	 4	 2

	46-	fuEufyf[kr esa ls fdl o"kZ caxky ds fenukiqj ftys esa 
tkfr;k ljdkj dh LFkkiuk gqbZ Fkh\

	 (a)	 1939	 (b)	 1940

	 (c)	 1941	 (d)	 1942

	47-	fuEufyf[kr esa ls fdl dsl dh leLr lalkj esa ppkZ 
gqbZ vkSj vfHk;qDrksa ds leFkZu esa vYcVZ vkbUlVhu] 
,p- th- osYl] gSjkYM ykLdh rFkk :tosYV us 
lgkuqHkwfriw.kZ fVIif.k;k¡ dh\

	 (a)	 vkbZ-,u-,- eqdnek

	 (b)	 ykgkSj "kM~;U=k eqdnek

	 (c)	 esjB "kM~;U=k eqdnek

	 (d)	 mi;ZqDr esa ls dksbZ ugh

	48-	fdlus bZLV bf.M;k daiuh ds ckjs esa ;g fVIi.kh dh 
fd ¶daiuh ,d vlaxfr gS ijUrq ;g ml O;oLFkk dk 
Hkkx gS tgk¡ lc dqN gh vlaxr gSA¸\

	 (a)	 okWjsu gsfLVaXl	 (b)	 th- ch- esdkys

	 (c)	 ykWMZ DykbZo	 (d)	 gsujh Mq.Mkl

	49-	fuEufyf[kr ;qXeksa ls dkSu lgh lqesfyr ugha gS\
		  foæksg		   o"kZ

	 (a)	 ikcuk foæksg	 &	 1873

	 (b)	 nDdu fdlku foæksg	 &	 1875

	 (c)	 laU;klh foæksg	 &	 1894

	 (d)	 dksy foæksg	 &	 1870

	50-	fuEufyf[kr esa ls fdl lekt lqèkkjd us 1826 ds twjh 
vfèkfu;e dk ?kksj fojksèk fd;k\

	 (a)	 bZ'ojpUæ fo|klkxj

	 (b)	 jktk jkeeksgu jk;

	 (c)	 egknso xksfoUn jkukMs

	 (d)	 jktukjk;.k clq

	 45.	 Match List-I with List-II and select the correct 
answer using the code given below :

		  List I		  List II
		  (Tirthankara)		  (Cognizance)
	 A.	 Adinatha	 1.	 Bull
	 B.	 Mallinatha	 2.	 Horse
	 C.	 Parshvanatha	 3.	 Snake
	 D.	 Sambhavnatha	 4.	 Water Jar
		  Codes :

		  A	 B	 C	 D
	 (a)	 1	 4	 3	 2

	 (b)	 1	 3	 2	 4

	 (c)	 2	 4	 3	 1

	 (d)	 3	 1	 4	 2

	 46.	 In which of the following years the Jatiya Sarkar 
was formed in the Midnapur district of Bengal?

	 (a)	 1939	 (b)	 1940
	 (c)	 1941	 (d)	 1942
	 47.	 Which of the following trials attracted world-wide 

publicity and drew sympathetic comments from 
Albert Einstein, H.G.Wells, Harold Laski and 
Roosevelt in favour of the convicts?

	 (a)	 INA trial
	 (b)	 Lahore conspiracy case
	 (c)	 Meerut conspiracy case
	 (d)	 None of the above
	 48.	 Who remarked about the East India Company that 

“The Company is an anomaly but it is part of a 
system where everything is an anomaly”?

	 (a)	 Warren Hastings	 (b)	 G.B.Macaulay
	 (c)	 Lord Clive	 (d)	 Henry Dundas
	 49.	 Which one of the following pairs is not correctly 

matched?
		  Revolt		  Year
	 (a)	 Pabna revolt	 –	 1873
	 (b)	 Deccan Kisan revolt	 –	 1875
	 (c)	 Sanyasi revolt	 –	 1894
	 (d)	 Kol uprising	 –	 1870
	 50.	 Which one of the following social reformers 

strongly opposed Jury Act of 1826?
	 (a)	 Ishwar Chandra Vidyasagar
	 (b)	 Raja Ram Mohan Roy
	 (c)	 Mahadev Govind Ranade
	 (d)	 Rajnarayan Basu
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	51-	fuEufyf[kr esa ls fdl LFkkuksa ij Mpksa us vius O;kikfjd 
vM~Ms LFkkfir fd,\

	 (a)	 ukxiV~Vue] fpulqjk] eNyhiV~Vue

	 (b)	 lwjr] Hk:p] vkxjk

	 (c)	 dksphu] vgenkckn] iVuk

	 (d)	 mijksDr lHkh

	52-	Lora=krk iwoZ Hkkjr esa fuEufyf[kr esa ls fdlus dsUæh; 
foèkkulHkk esa Lojkt ny dk leFkZu fd;k Fkk\

	 (a)	 ,e- ,- ftUuk

	 (b)	 ekSykuk vcqy dyke vktkn

	 (c)	 MkW- jktsUæ çlkn

	 (d)	 tokgjyky usg:

	53-	xksiky Ñ".k xks[kys us fdl o"kZ esa Hkkjr lsod e.My 
(loZsUV~l vkWiQ bf.M;k lkslkbVh) dh LFkkiuk dh\

	 (a)	 1902	 (b)	 1903
	 (c)	 1904	 (d)	 1905
	54-	1303 esa dkdrh; 'kkldksa dh lsuk us fuEu esa ls fdldh 

lsuk dks okjaxy esa ijkLr fd;k\
	 (a)	 bYrqrfe'k dh

	 (b)	 cycu dh

	 (c)	 vykmíhu [kyth dh

	 (d)	 eqgEen rqxyd dh

	55-	Hkkjr dk lokZfèkd xgjkbZ okyk cUnxkg gS%
	 (a)	 dk.Myk	 (b)	 dksphu

	 (c)	 ikjknhi	 (d)	 ekekZxksok
	56-	fuEu esa ls dkSu fo'kkyre fgeun gS\
	 (a)	 lklkbuh	 (b)	 xaxks=kh
	 (c)	 tsew	 (d)	 fl;kfpu
	57-	2011 dh tux.kuk ds vuqlkj fuEufyf[kr jkT;ksa esa 

fdlesa vuqlwfpr tutkfr;ksa dh tula[;k dk çfr'kr 
mlds dqy tul[;ksa ds çfr'kr ds fglkc ls U;wure 
gS\

	 (a)	 mÙkj çns'k	 (b)	 fcgkj
	 (c)	 rfeyukMq	 (d)	 dsjy

	58-	vèkksfyf[kr esa ls dkSu 'khr egklkxj èkkjk ugha gS\
	 (a)	 dukjht	 (b)	 gEcksYV
	 (c)	 vks;k'khvksa	 (d)	 vxqygkl

	59-	fuEufyf[kr esa ls dkSu lgh lqesfyr ugha gS\
	 	 ioZr njkZ		  jkT;

	 (a)	 f'kidh yk	 &	 fgekpy çns'k

	 (b)	 ckeMhyk	 &	 v#.kkpy çns'k

	 (c)	 ukFkq yk	 &	 es?kky;

	 (d)	 ”kksftyk	 &	 tEew ,oa d'ehj

	 51.	 In which of the following places the Dutch 
established their trading centres in India?

	 (a)	 Nagappattinam, Chinsura, Machilipatnam
	 (b)	 Surat, Bharuch, Agra
	 (c)	 Cochin, Ahmedabad, Patna
	 (d)	 All the above
	 52.	 Who among the following supported the Swaraj 

Party in Central Legislative Assembly in pre-
independent India?

	 (a)	 M.A.Jinnah
	 (b)	 Maulana Abdul Kalam Azad
	 (c)	 Dr. Rajendra Prasad
	 (d)	 Jawaharlal Nehru
	 53.	 In which year Gopal Krishna Gokhale founded 

‘Servants of India Society’?
	 (a)	 1902	 (b)	 1903
	 (c)	 1904	 (d)	 1905
	 54.	 Whose army was defeated by the army of Kakatiya 

rulers in 1303 at Warangal?
	 (a)	 of Iltutmish
	 (b)	 of Balban
	 (c)	 of Alauddin Khalji
	 (d)	 of Muhammad Tughlaq
	 55.	 India’s deepest port is :
	 (a)	 Kandla	 (b)	 Cochin
	 (c)	 Paradip	 (d)	 Marmagoa
	 56.	 Which amongst the following is the largest glacier?
	 (a)	 Sasaini	 (b)	 Gangotri
	 (c)	 Zemu	 (d)	 Siachin
	 57.	 Which one of the following states has the lowest 

percentage of Scheduled Tribes population as 
percentage of its total population according to 
Census 2011?

	 (a)	 Uttar Pradesh	 (b)	 Bihar
	 (c)	 Tamil Nadu	 (d)	 Kerala
	 58.	 Which of the following is not a cold ocean current?
	 (a)	 Canaries	 (b)	 Humboldt
	 (c)	 Oyashio	 (d)	 Agulhas
	 59.	 Which of the following is not correctly matched?
		  Mountain pass		  State
	 (a)	 Sipki la	 –	 Himachal Pradesh
	 (b)	 Bomdila	 –	 Arunachal Pradesh
	 (c)	 Nathu la	 –	 Meghalaya
	 (d)	 Zojila	 –	 Jammu & Kashmir
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	60-	fuEufyf[kr esa ls fdls ^;wjksi dh rsy jktèkkuh* dgk 
tkrk gS\

	 (a)	 csyiQkLV	 (b)	 ,cjMhu

	 (c)	 yhM~l	 (d)	 fyojiwy

	61-	fuEufyf[kr esa ls fdl ns'k lewg dh lhek btjk;y 
ls yxh gqbZ gS\

	 (a)	 yscuku] lhfj;k] tksMZu] felz

	 (b)	 felz] VdhZ] tksMZu] lkbçl

	 (c)	 yscuku] lhfj;k] VdhZ] tksMZu

	 (d)	 VdhZ] lhfj;k] bjkd] ;eu

	62-	fuEufyf[kr esa ls dkSu&lk lcls cM+k iBkj gS\
	 (a)	 dksdksfuuks	 (b)	 ,Dosfj;l

	 (c)	 dksyksjkMks	 (d)	 dksyfEc;k

	63-	uhps fn;s x;s dwV dk mi;ksx djrs gq,s fuEufyf[kr 
?kVukvksa dks lgh dkykuqØe ls fufnZ"V dhft;s%

	 1-	 jkWysV ,DV ds fo:} lR;kxzg

	 2-	 pEikj.k lR;kxzg

	 3-	 [ksM+k fdlku vkaUnksyu

	 4-	 vgenkckn fey gM+rky

	 dwV %

	 (a)	 2] 4] 3] 1	 (b)	 1] 2] 3] 4

	 (c)	 2] 1] 4] 3	 (d)	 3] 2] 4] 1

	64-	fuEufyf[kr esa ls dkSu ;qXe lgh lqesfyr gS\
	 1-	 bMqDdh	 %	 rkih; 'kfDr x`g

	 2-	 lcjhfxjh	 %	 ty fo|qr ifj;kstuk

	 3-	 ?kkV çHkk	 %	 flapkbZ ifj;kstuk

	 4-	 jkexaxk	 %	 cgqís'kh; ifj;kstuk

	 (a)	 2] 3 vkSj 4	 (b)	 1] 2] 3 vkSj 4

	 (c)	 3 vkSj 4	 (d)	 1 vkSj 2

	65-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk uhps fn, 
x, dwV lgh mÙkj ls pqfu;s%

		  lwph&I		 lwph&II

		  (ty çikr)		 (unh)

	 A.	 nwèklkxj	 1-	?kkVçHkk

	 B.	 MqMqek	 2-	ePNdq.M

	 C.	 xksdkd	 3-	'kjkorh

	 D.	 tksx	 4-	ek.Moh

	 dwV%
		  A	 B	 C	 D
	 (a)	 4	 2	 1	 3
	 (b)	 4	 2	 3	 1
	 (c)	 2	 4	 1	 3
	 (d)	 2	 3	 4	 1

	 60.	 Which of the following cities is known as the oil 
capital of Europe?

	 (a)	 Belfast	 (b)	 Aberdeen
	 (c)	 Leeds	 (d)	 Liverpool
	 61.	 Which of the following groups of countries share 

border with Israel?
	 (a)	 Lebanon, Syria, Jordan, Egypt
	 (b)	 Egypt, Turkey, Jordan, Cyprus
	 (c)	 Lebanon, Syria, Turkey, Jordan
	 (d)	 Turkey, Syria, Iraq, Yemen
	 62.	 Which one amongst the following is the Largest 

plateau?
	 (a)	 Coconino	 (b)	 Aquarius
	 (c)	 Colorado	 (d)	 Columbia
	 63.	 Arrange the following events in correct 

chronological sequence using the code given below
	 1.	 Satyagraha against the Rowlatt Act
	 2.	 Champaran Satyagraha
	 3.	 Kheda Peasant struggle
	 4.	 Ahmedabad Mill Strike
		  Codes :
	 (a)	 2, 4, 3, 1	 (b)	 1, 2, 3, 4
	 (c)	 2, 1, 4, 3	 (d)	 3, 2, 4, 1
	 64.	 Which of the following pairs are correctly 

matched?
	 1.	 Idukki	 :	 Thermal Power Station
	 2.	 Sabarigiri	 :	 Hydroelectric project
	 3.	 Ghatprabha	 :	 Irrigation project
	 4.	 Ramganga	 :	 Multipurpose project
	 (a)	 2, 3 and 4	 (b)	 1, 2, 3 and 4
	 (c)	 3 and 4	 (d)	 1 and 2
	 65.	 Match List I with List II and select the correct 

answer using the code given below :
		  List I		  List II
		  (Waterfall)		  (River)
	 A.	 Dudhsagar	 1.	 Ghatprabha
	 B.	 Duduma	 2.	 Machhkund
	 C.	 Gokak	 3.	 Sharavati
	 D.	 Jog	 4.	 Mandavi
		  Codes :

		  A	 B	 C	 D
	 (a)	 4	 2	 1	 3
	 (b)	 4	 2	 3	 1
	 (c)	 2	 4	 1	 3
	 (d)	 2	 3	 4	 1
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	66-	fuEufyf[kr 'kSyØeksa esa ls dkSu Hkkjr dk 90» ls 

vfèkd dks;yk çnku djrk gS\

	 (a)	 foUè; Øe	 (b)	 èkkjokM+ Øe

	 (c)	 Vf'kZ;jh Øe	 (d)	 xks.Mokuk Øe

	67-	fuEufyf[kr yksgk ,oa bLikr dkj[kkuksa esa ls dkSu dPps 

eky {ks=k ds lehi ugha gS\

	 (a)	 te'ksniqj	 (b)	 jkÅjdsyk

	 (c)	 nqxkZiqj	 (d)	 lsye

	68-	yky lkxj ,d mnkgj.k gS%

	 (a)	 Tokykeq[kh ?kkVh dk	 (b)	 vijfnr ?kkVh dk

	 (c)	 v{kh; æks.kh dk	 (d)	 ‘U’ vkdkj ?kkVh dk

	69-	ddZ js[kk fuEufyf[kr esa ls fdu jkT;ksa ls gksdj xqtjrh 

gS\

	 	uhps fn, x, dwV ls lgh mÙkj pqfu;s%

	 1-	 xqtjkr	 2-	NÙkhlx<+

	 3-	 mÙkj çns'k	 4-	>kj[k.M

	 dwV %

	 (a)	 1] 2 vkSj 4	 (b)	 1] 2] 3 vkSj 4

	 (c)	 1] 3 vkSj 4	 (d)	 2] 3 vkSj 4

	70-	fuEufyf[kr igkM+h tkfr;ksa dk if'peh ls iwoZ lgh Øe 

igpkfu;s%

	 (a)	 [kklh & xkjks & ukxk & tSfUr;k

	 (b)	 ukxk & tSfUr;k & [kklh & xkjks

	 (c)	 xkjks & [kklh & tSafr;k & ukxk

	 (d)	 tSfUr;k & ukxk & xkjks & [kklh

	71-	fuEufyf[kr esa ls dkSu lh ugj nf{k.k teZuh esa vkUrfjd 

tyekxZ ds :i es ç;ksx dh tkrh gS\

	 (a)	 oksYxknksu ugj

	 (b)	 lkYV ls.Vh ekjh ugj

	 (c)	 yqMfoXl ugj

	 (d)	 liQsn lkxj ugj

	72-	czkthy esa fo'kky dgok ckxkuksa dks dgk tkrk gS\

	 (a)	 bLVsV	 (b)	 bLVsafl;kt

	 (c)	 dy[kkstsl	 (d)	 iQts.Mk

	73-	fuEufyf[kr ;qXeksa esa ls dkSu lgh lqesfyr ugha gS\

	 (a)	 fxuh&fclkÅ	 &	 fclkÅ

	 (b)	 rkboku	 &	 rkbisbZ

	 (c)	 fudkjkxqvk	 &	 ekukxqvk

	 (d)	 ekynho	 &	 ekykcks

	 66.	 Which of the following rock systems provides over 
90% of the coal of India?

	 (a)	 Vindhyan system	 (b)	 Dharwar system

	 (c)	 Tertiary system	 (d)	 Gondwana system

	 67.	 Which of the following iron and Steel plants is not 
close to raw material area?

	 (a)	 Jamshedpur	 (b)	 Rourkela

	 (c)	 Durgapur	 (d)	 Salem

	 68.	 Red sea is an example of:
	 (a)	 Volcanic valley	 (b)	 Eroded valley

	 (c)	 Axial trough	 (d)	 U-shaped valley

	 69.	 The Tropic of cancer passes through which of the 
following states?

		  Select the correct answer from the codes given 
below:

	 1.	 Gujarat	 2.	 Chattisgarh

	 3.	 Uttar Pradesh	 4.	 Jharkhand

		  Codes :
	 (a)	 1, 2 and 4	 (b)	 1, 2, 3 and 4

	 (c)	 1, 3 and 4	 (d)	 2, 3 and 4

	 70.	 Identify the correct west to east sequence of the 
following Hilly Castes?

	 (a)	 Khasi – Garo – Naga – Jaintia

	 (b)	 Naga – Jaintiya – Khasi – Garo

	 (c)	 Garo – Khasi – Jaintia – Naga

	 (d)	 Jaintiya – Naga – Garo – Khasi

	 71.	 Which of the following canals is used as an inland 
waterway in Southern Germany?

	 (a)	 Volga-Don Canal

	 (b)	 Sault – Sainte Marie Canal

	 (c)	 Ludwigs Canal

	 (d)	 White Sea Canal

	 72.	 Large coffee plantations in Brazil are called
	 (a)	 Estate	 (b)	 Estancias

	 (c)	 Kalkhozes	 (d)	 Fazendas

	 73.	 Which of the following pairs is not correctly 
matched?

		  Country		  Capital

	 (a)	 Guinea Bissau	 –	 Bissau

	 (b)	 Taiwan	 –	 Taipei

	 (c)	 Nicaragua	 –	 Managua

	 (d)	 Maldives	 –	 Malabo
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	74-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk uhps fn, 
x, dwV lgh mÙkj ls pqfu;s

	 	 lwph&I	 	 lwph&II

		  ({ks=k)		  (LFkkukUrjh [ksrh)

	 A.	 if'peh ?kkV	 1-	 Mkfg;k

	 B.	 nf{k.k iwohZ jktLFkku	 2-	 okYrjs

	 C.	 mÙkjh&iwohZ Hkkjr	 3-	 >we

	 D.	 eè; çns'k rFkk NÙkhlx<+	 4-	 dqekjh

	 dwV %
		  A	 B	 C	 D
	 (a)	 4	 2	 3	 1
	 (b)	 4	 3	 2	 1
	 (c)	 3	 4	 1	 2
	 (d)	 3	 2	 1	 4

	75-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk uhps fn, 
x, dwV dk mi;ksx dj lgh mÙkj ls pqfu;s%

		  lwph&I		  lwph&II

		  (,Y;qfefu;e dEiuh)		  (fLFkfr)

	 A.	 ckYdks	 1-	 ghjkdq.M

	 B.	 fgUMkYdks	 2-	 dksjck

	 C.	 bf.;u ,Y;qfefu;e dEiuh	 3-	 dksjkiqV

	 D.	 ukYdks	 4-	 jsuqdwV

	 dwV%
		  A	 B	 C	 D
	 (a)	 3	 1	 4	 2
	 (b)	 2	 4	 1	 3
	 (c)	 3	 4	 1	 2
	 (d)	 2	 1	 4	 3

	76-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk uhps fn, 
x, dwV ls lgh mÙkj pqfu;s%

		  lwph&I		 lwph&II

		  (uxj)		 (unh)

	 A.	 [kkjrqe	 1-	tSjs

	 B.	 czktkosys	 2-	uhy

	 C.	 jkWVMZe	 3-	lsu

	 D.	 isfjl	 4-	jkbu

	 dwV%
		  A	 B	 C	 D
	 (a)	 2	 1	 4	 3
	 (b)	 1	 2	 3	 4
	 (c)	 4	 3	 2	 1
	 (d)	 3	 4	 1	 2

	 74.	 Match List I with List II and select the correct 
answer using the code given below:

		  List I		  List II
		  (Area)		�  (Shifting 

Cultivation)
	 A.	 Western Ghat	 1.	 Dahiya
	 B.	 South-east Rajasthan	 2.	 Waltre
	 C.	 North-east India	 3.	 Jhum
	 D.	 Madhya Pradesh	 4.	 Kumari
		  and Chattisgarh
		  Codes :

		  A	 B	 C	 D
	 (a)	 4	 2	 3	 1

	 (b)	 4	 3	 2	 1

	 (c)	 3	 4	 1	 2

	 (d)	 3	 2	 1	 4

	 75.	 Match List I with List II and select the correct 
answer using the code given below :

		  List I		  List II
		  (Aluminium company)		  (Location)
	 A.	 Balco	 1.	 Hirakud
	 B.	 Hindalco	 2.	 Korba
	 C.	 Indian Aluminium company	3.	 Koraput
	 D.	 NALCO	 4.	 Renukut
		  Codes :

		  A	 B	 C	 D
	 (a)	 3	 1	 4	 2

	 (b)	 2	 4	 1	 3

	 (c)	 3	 4	 1	 2

	 (d)	 2	 1	 4	 3

	 76.	 Match List I with List II and select the correct 
answer using the code given below :

		  List I		  List II
		  (City)		  (River)
	 A.	 Khartoum	 1.	 Zaire
	 B.	 Brazzaville	 2.	 Nile
	 C.	 Rotterdam	 3.	 Seine
	 D.	 Paris	 4.	 Rhine
		  Codes :

		  A	 B	 C	 D
	 (a)	 2	 1	 4	 3

	 (b)	 1	 2	 3	 4

	 (c)	 4	 3	 2	 1

	 (d)	 3	 4	 1	 2
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	77-	,y-ih-th- flysaMj ds fjlko ls mRiUu nqxZèk fuEufyf[kr 
esa ls fdldh gksrh gS\

	 (a)	 ehFksu	 (b)	 çksisu

	 (c)	 C;wVsu	 (d)	 bFkkby ejdSIVsu

	78-	uhps nks dFku fn;s x;s gS
	 	dFku (A) % ekuo 'kjhj lsyqykst ds ikpu esa vl{ke 

gSA
	 	dkj.k (R) % ekuo 'kjhj esa LVkpZ&vi?kVd] ,Utkbe] 

Mk;LVsl fo|eku jgrk gSA
	 	uhps fn, x, dwV ls lgh mÙkj pqfu;s%
	 dwV%

	 (a)	 (A) rFkk (R) nksuksa lgh gSa vkSj (A) dk lgh 
Li"Vhdj.k (R) gSA

	 (b)	 (A) rFkk (R) nksuksa lgh gSa fdUrq (R), (A) dk 
lgh Li"Vhdj.k ugha gSA

	 (c)	 (A) lR; gS] fdUrq (R) vlR; gSA

	 (d)	 (A) vlR; gS] fdUrq (R) lR; gSA

	79-	lqbZ pqHkkus ij fuEufyf[kr vaxksa es dkSu&lk nnZ eglwl 
ugha djsxk\

	 (a)	 Ropk	 (b)	 efLr"d

	 (c)	 ân;	 (d)	 us=k

	80-	fuEufyf[kr esa ls fdl tUrq es [kqj ugha ik;s tkrs gSa\
	 (a)	 fgj.k	 (b)	 xhnM+

	 (c)	 tscjk	 (d)	 ?kksM+k

	81-	iQyksa ds ehBs Lokn dk dkj.k gS
	 (a)	 ekYVks”k	 (b)	 jkbcks”k

	 (c)	 ySDVks”k	 (d)	 ÚDVks”k

	82-	fuEufyf[kr esa ls dkSu&lk ,d inkFkZ çkÑfrd cgqyd 
gS\

	 (a)	 cSdsykbV	 (b)	 js'ke

	 (c)	 dsoykj	 (d)	 ysDlku

	83-	fuEufyf[kr esa ls dkSu ;qXe lgh lqesfyr ugha gS\
		  gkekZsu		  dk;Z

	 (a)	 bUlqfyu	 &	 jDr 'kdZjk dk fu;a=k.k

	 (b)	 esykVksfuu	 &	 fuæk dk fu;a=k.k

	 (c)	 vkWDlhVksflu	&	 Lru xzfUFk ls nqXèk dk fuLlj.k

	 (d)	 xSfLVªu	 &	 jDrpki dk fu;eu

	84-	;wfj;k gS\
	 (a)	 ,d ukbVªkstu ;qDr dkcZfud ;ksfxd

	 (b)	 ,d ukbVªkstu ;qDr vdkcZfud ;ksfxd

	 (c)	 ,d ikni gkekZsu

	 (d)	 ,d ÅtkZ 'kks"kh inkFkZ

	 77.	 The stench due to leakage from LPG cylinder is 
because of:

	 (a)	 Methane	 (b)	 Propane
	 (c)	 Butane	 (d)	 Ethyl mercaptan
	 78.	 Given below are two statements:
		  Assertion (A) : Human body is incapable of 

digesting cellulose.
		  Reason (R) : Starch degrading enzyme, diastase, 

is found in human body.
		  Choose the answer from the code given below:
		  Codes :
	 (a)	 Both (A) and (R) are true and (R) is the 

correct explanation of (A)
	 (b)	 Both (A) and (R) are true but (R) is not the 

correct explanation of (A)
	 (c)	 (A) is true but (R) is false
	 (d)	 Both (A) and (R) are false
	 79.	 Which one of the following organs will not feel 

any pain on being pricked by a needle?
	 (a)	 Skin	 (b)	 Brain
	 (c)	 Heart	 (d)	 Eye
	 80.	 In which of the following animals hooves are not 

found?
	 (a)	 Deer	 (b)	 Jackal
	 (c)	 Zebra	 (d)	 Horse
	 81.	 The cause of sweet taste in fruits is :
	 (a)	 Maltose	 (b)	 Ribose
	 (c)	 Lactose	 (d)	 Fructose
	 82.	 Which one of the following is a natural polymer?
	 (a)	 Bakelite	 (b)	 Silk
	 (c)	 Kevlar	 (d)	 Lexan
	 83.	 Which one of the following pairs is not correctly 

matched?
	 	  Hormone		  Function
	 (a)	 Insulin	 –	 Regulation of blood glucose
	 (b)	 Melatonin	 –	 Regulation of sleep
	 (c)	 Oxytocin	 –	� Release of milk from 

mammary glands
	 (d)	 Gastrin	 –	� Regu la t ion  o f  b lood 

pressure
	 84.	 Urea is
	 (a)	 A nitrogen containing organic compound
	 (b)	 A nitrogen containing in organic compound
	 (c)	 A plant harmone
	 (d)	 An Endergonic compound



16

	85-	jkuh >kalh leqæh jk"Vªh; ikdZ dh LFkkiuk gqbZ Fkh%

	 (a)	 1994 esa	 (b)	 1995 esa

	 (c)	 1996 esa	 (d)	 1997 esa

	 86-	fiÙkk'k; esa mifLFkr iRFkj fuEufyf[kÙk esa ls fdldk 

ikpu çHkkfor djrk gS\

	 (a)	 çksVhu dk	 (b)	 olk dk

	 (c)	 dkckZsgkbMªsM dk	 (d)	 U;wDykbd vEy dk

	87-	fuEufyf[kÙk esa ls dkSu&lk vkuqoaf'kd jksx ugha gS\

	 (a)	 jrkSaèkh	 (b)	 jatdghurk

	 (c)	 gheksiQhfy;k	 (d)	 o.kkZUèkrk

	88-	fuEufyf[kr esa ls dkSu&lk ;qXe lgh lqesfyr ugha gS\

		  foVkfeu		  dk;Z

	 (a)	 foVkfeu B12	 &	 çfrvjDrrk dkjd

	 (b)	 foVkfeu C	 &	 çfrLdohZ dkjd

	 (c)	 foVkfeu D	 &	 oaè;rkjksèkh dkjd

	 (d)	 foVkfeu K	 &	 çfrjDrL=kkoh dkjd

	89-	vk;ksMhu dh deh ls gksrk gS

	 (a)	 jrkSaèkh	 (b)	 ddZ jksx

	 (c)	 ?ksa?kk jksx	 (d)	vfLFklqf"kjrk

	90-	fuEufyf[kr esa ls dkSu&lk dkcZfud vEy v¡xwj] beyh 

rFkk dsys esa çpqj ek=kk esa fo|eku jgrk gS\

	 (a)	 ,flfVd vEy	 (b)	 flfVªd vEy

	 (c)	 ySfDVd vEy	 (d)	 VkjVsfjd vEy

	91-	fuEufyf[kr b±èkuks esa ls dkSu U;wure i;kZoj.kh; çnw"k.k 

mRiUu djsxk\

	 (a)	 gkbMªkstu	 (b)	 Mhty

	 (c)	 feV~Vh dk rsy	 (d)	 dks;yk

	92-	fuEufyf[kr esa ls fdldk efLr"d mlds 'kjhj ds 

vuqikr esa lcls cM+k gksrk gS\

	 (a)	 phaVh	 (b)	 gkFkh

	 (c)	 MkWyfiQu	 (d)	 ekuo

	93-	Ñf=ke mixzg i`Foh ls lqLi"Vrk ls VªSd fd;k tk ldrk 

gS\

	 (a)	 MkWiyj çHkko }kjk	 (b)	 jMkj }kjk

	 (c)	 lksukj }kjk	 (d)	 iYlj }kjk

	94-	,d lqjax esa 100 okWV {kerk okys ikap cYc yxkrkj 

20 ?kaVs rd tyk;s tkrs gSA lEiw.kZ fo|qr [kpZ gksxh%

	 (a)	 ,d ;wfuV	 (b)	 nks ;wfuV

	 (c)	 nl ;wfuV	 (d)	 chl ;wfuV

	 85.	 Rani Jhansi maritime National Park was founded 
in :

	 (a)	 1994	 (b)	 1995

	 (c)	 1996	 (d)	 1997

	 86.	 The stones present in the gall bladder affect the 
digestion of :

	 (a)	 Protein	 (b)	 Fat

	 (c)	 Carbohydrate	 (d)	 Nucleic acid

	 87.	 Which one of the following is not genetic disease?
	 (a)	 Night blindness	 (b)	 Albinism

	 (c)	 Haemophilia	 (d)	 Colour blindness

	 88.	 Which one of the following pairs is not correctly 
matched?

		  Vitamin		  Role

	 (a)	 Vitamin B12	 –	 antianaemic factor

	 (b)	 Vitamin C	 –	 antiscorbutic factor

	 (c)	 Vitamin D	 –	 antisterility factor

	 (d)	 Vitamin K	 –	 antihaemorrhagic factor

	 89.	 Deficiency of Iodine causes :
	 (a)	 Night Blindness	 (b)	 Cancer

	 (c)	 Goitre	 (d)	 Osteoporosis

	 90.	 Which one of the following organic acids is 
abundant in grapes, tamarind and banana?

	 (a)	 Acetic acid	 (b)	 Citric acid

	 (c)	 Lactic acid	 (d)	 Tartaric acid

	 91.	 Which of the following fuels would produce 
minimum environmental pollution?

	 (a)	 Hydrogen	 (b)	 Diesel

	 (c)	 Kerosene	 (d)	 Coal

	 92.	 Which of the following has the largest brain in 
proportion to its body size?

	 (a)	 Ant	 (b)	 Elephant

	 (c)	 Dolphin	 (d)	 Human Being

	 93.	 An artificial satellite can be tracked very precisely 
from the earth by using

	 (a)	 Doppler effect	 (b)	 Radar

	 (c)	 Sonar	 (d)	 Pulsar

	 94.	 Five bulbs each of 100 watt capacity in a tunnel 
are illuminated continuously for twenty hours.	
The consumption of electricity will be :

	 (a)	 One unit	 (b)	 Two units

	 (c)	 Ten units	 (d)	 Twenty units



17

	95-	;fn 100 xzke phuh dks vkèkk yhVj ikuh esa feydj 

,d vlar`Ir phuh dk ?kksy rS;kj fd;k tk; rks fuEu 

esa ls dkSu lh HkkSfrd jkf'k ugha cnysxh\

	 (a)	 æO;eku	 (b)	 ?kuRo

	 (c)	 lkaærk	 (d)	vk;ru

	96-	eksckbZy pktZj gksrk gS%

	 (a)	 ,d bUoVZj

	 (b)	 ,d ;w-ih-,l-

	 (c)	 ,d mPpk;h VªkaliQkeZj

	 (d)	 ,d vip;h VªkaliQkeZj

	97-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk uhps fn, 

x, dwV lgh mÙkj pqfu;s%

		  lwph&I (mRikn)		 lwph&II (lzksr)

	 A.	 viQhe	 1-	Nky

	 B.	 ghax	 2-	tM+

	 C.	 jcj	 3-	iQy

	 D.	 dquSu	 4-	ruk

	 dwV%

		  A	 B	 C	 D

	 (a)	 1	 2	 3	 4

	 (b)	 3	 2	 4	 1

	 (c)	 4	 2	 1	 3

	 (d)	 2	 4	 3	 1

	98-	Vsyhfotu n'kZd fM'k ,fUVuk ç;qDr djrs gq,s cjlkr 

esa mixzg flXuy ugha çkIr djrs D;ksafd

	 1-	 ,fUVuk NksVs gksrs gSaA

	 2-	 o"kkZ dh cw¡ns jsfM;ks rjaxksa dh mtkZ vo'kksf"kr 

djrh gSaA

	 3-	 o"kkZ dh cw¡ns jsfM;ks rjaxksa dh mtkZ dh ewy fn'kk 

dks fopfyr djrh gS

	 	mijksDr dFkuksa esa ls dkSu lgh gSA

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	99-	2011&tux.kuk ds vuqlkj fuEu es ls fdl jkT; esa 

tula[;k esa deh vk;h gS\

	 (a)	 ukxkyS.M	 (b)	 ef.kiqj

	 (c)	 f=kiqjk	 (d)	 flfDde

	 95.	 If an unsaturated sugar solutionis prepared by 
mixing 100 grams of sugar with half litre of water, 
which of the following physical quantities will not 
change?

	 (a)	 mass	 (b)	 density

	 (c)	 concentration	 (d)	 volume

	 96.	 A mobile phone charger is

	 (a)	 An inverter

	 (b)	 A UPS

	 (c)	 A step up transformer

	 (d)	 A step down transformer

	 97.	 Match List I with List II and select the correct 
answer using the code given below:

		  List I (Product)		  List II (Source)

	 A.	 Opium	 1.	 Bark

	 B.	 Hing	 2.	 Root

	 C.	 Rubber	 3.	 Fruit

	 D.	 Quinine	 4.	 Stem

		  Codes :

		  A	 B	 C	 D

	 (a)	 1	 2	 3	 4

	 (b)	 3	 2	 4	 1

	 (c)	 4	 2	 1	 3

	 (d)	 2	 4	 3	 1

	 98.	 Television viewers using dish antenna to receive 
satellite signals do not receive signals during rain 
because :

	 1.	 of small size of antenna.

	 2.	 rain droplets absorb the energy of radio 
waves.

	 3.	 rain droplets disperse the energy of radio 
waves from their original direction.

		  Which of the above statements are correct?

	 (a)	 Only 1	 (b)	 Only 1 and 2

	 (c)	 Only 2 and 3	 (d)	 1, 2 and 3

	 99.	 As per 2011 Census which one of the following 
states has recorded decrease in population?

	 (a)	 Nagaland	 (b)	 Manipur

	 (c)	 Tripura	 (d)	 Sikkim
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	100-	uhps nks dFku fn;s x;s gS%
	 	vfHkdFku (A) % fo'o LokLF; laxBu (MCY;w-,p-

vks-) ds vuqlkj 1993 esa fo'o esa 16-5 fefy;u e`R;q 
NqvkNwr dh chekfj;ksa ds dkj.k gqbZ FkhA

	 	dkj.k (R) % LokLF; fu;kstu ds fcuk uxjhdj.k ds 
dkj.k bl çdkj dh chekfj;k¡ iQSyrh gSaA

	 	uhps fn, x, dwV ls lgh mÙkj dk p;u dhft;s
	 dwV%

	 (a)	 (A) vkSj (R) nksuksa lgh gSa rFkk (R), (A) dh 
lgh O;k[;k djrk gSA

	 (b)	 (A) vkSj (R) nksuksa lgh gSa ijUrq (R), (A) dh 
lgh O;k[;k ugha djrk gSA

	 (c)	 (A) lgh gS] ijUrq (R) xyr gSA
	 (d)	 (A) xyr gS] ijUrq (R) lgh gSA
	101-	,d dVk gqvk ghjk txexkgV ds lkFk pedrk gS%
	 (a)	 dqN LokHkkfod xq.k ds dkj.k

	 (b)	 iw.kZ vkarfjd ijkorZu ds dkj.k

	 (c)	 bldh vk.kfod lajpuk ds dkj.k

	 (d)	 çdk'k ds vo'kks"k.k ds dkj.k

	102-	Hkkjr ljdkj }kjk vuqeksfnr l{ke ifj;kstuk lacafèkr 
gS%

	 (a)	 vuqlwfpr tkfr vuqlwfpr tutkfr tula[;k ds 
dkS'ky fodkl ls

	 (b)	 çHkkoh vkink çcaèku gsrq lSU; bdkbZ ls

	 (c)	 uohu vçR;{k dj usVodZ ls

	 (d)	 fnO;kax ;qokvksa esa vkRefo'okl l`tu djus ls

	103-	^LVkVZ&vIl* dh fo'ks"k vko';drkvksa dks iwjk fd;k 
tkrk gS%

	 (a)	 nwr fuos'kdksa ds ekè;e ls

	 (b)	 tksf[ke ;qDr iw¡th ls

	 (c)	 HkhM+ foÙk iks"k.k ds ekè;e ls

	 (d)	 mijksDr lHkh ls

	104-	fuEu esa ls fdlds ¼kjk tuojh 2017 es ls”k bf.M;k 
eksckby ,si 'kq: fd;k x;k gS\

	 (a)	 Je ,oa jkstxkj ea=kky;

	 (b)	 foÙk ea=kky;

	 (c)	 okf.kT; ,oa m|ksx ea=kky;

	 (d)	 fuxeh; dk;Z ea=kky;

	105-	fczDl ns'kksa }kjk dkSu&lk cSad phu esa LFkkfir fd;k 
x;k gS\

	 (a)	 U;w baMfLVª;y MsoyiesaV cSad

	 (b)	 U;w ,xzhdYpjy MsoyiesaV cSad

	 (c)	 U;w MsoyiesaV cSad

	 (d)	 U;w dkWef'kZ;y cSad

	100.	 Given below are two statements :
		  Assertion (A) : According to the World Health 

Organization (WHO) in 1993, there were 16.5 
million deaths due to infectious diseases world 
wide.

		  Reason (R) : Urbanisation without health planning 
leads to the spread of such diseases.

		  Choose the correct answer from the codes given 
below:

		  Codes :
	 (a)	 Both (A) and (R) are true and (R) is the 

correct explanation of (A)
	 (b)	 Both (A) and (R) are true but (R) is not the 

correct explanation of (A)
	 (c)	 (A) is true but (R) is false
	 (d)	 (A) is false but (R) are true
	101.	 A cut diamond shines brilliantly due to
	 (a)	 some inherent property
	 (b)	 total internal reflection
	 (c)	 its molecular structure
	 (d)	 absorption of light
	102.	 Saksham project approved by Govt of India is 

related to
	 (a)	 Skill development of SC and ST population
	 (b)	 A military unit for effective disaster 

management
	 (c)	 A new indirect tax network
	 (d)	 Creating self confidence among ‘Divyang’ 

youth.
	103.	 The specific requirements of the ‘start-ups’ can be 

fulfilled through:
	 (a)	 Angel Investors
	 (b)	 Venture capital
	 (c)	 Crowd funding
	 (d)	 All the above
	104.	 SEZ India mobile app has been launched in January 

2017 by :
	 (a)	 Ministry of Labour and Employment.
	 (b)	 Ministry of Finance
	 (c)	 Ministry of Commerce and Industry
	 (d)	 Ministry of Corporate Affairs.
	105.	 Which bank has been established in China by 

BRICS countries?
	 (a)	 New Industrial Development Bank
	 (b)	 New Agricultural Development Bank
	 (c)	 New Development Bank
	 (d)	 New Commercial Bank
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	106-	Hkkjr ljdkj }kjk vkjEHk dh xbZ ;kstukvksa fuEufyf[kr 

dks le;kuqØe O;ofLFkr dhft;s vkSj uhps fn, dwV 

lgh mÙkj ls pqfu;s%

	 I.	 lqdU;k le`f¼ ;kstuk

	 II.	 vVy isa'ku ;kstuk

	 III.	 eSd bu bf.M;k

	 IV.	 çèkkuea=kh tu&èku ;kstuk

	 dwV%

	 (a)	 IV] III] II rFkk I	 (b)	 I] II] III rFkk IV

	 (c)	 III] II] I rFkk IV	 (d)	 IV] I] II rFkk III

	107-	lkekftd lqj{kk vfèkfu;e] 2008 ds varxZr çkjaHk 	

dh x;h jk"Vªh; LokLF; chek ;kstuk vkPNkfnr djrh 

gS

	 (a)	 dsoy laxfBr {ks=k ds Jfedksa dks

	 (b)	 dsoy xzkeh.k Jfedksa dks

	 (c)	 dsoy vlaxfBr {ks=k ds Jfedksa dks

	 (d)	 lHkh Js.kh ds Jfedksa dks

	108-	X;kjgoha ;kstuk ds nkSjku f'k'kq e`R;q nj (vkbZ,evkj) 

dks de djus dk y{; Fkk%

	 (a)	 27 çfr 1000 ykbo cFkZ

	 (b)	 28 çfr 1000 ykbo cFkZ

	 (c)	 29 çfr 1000 ykbo cFkZ

	 (d)	 30 çfr 1000 ykbo cFkZ

	109-	lwph&I dks lwph&II ls lqfeysf[kr dhft;s rFkk lwfp;ksa 

ds uhps fn;s x, dwV ls lgh mÙkj pqfu;s%

		  lwph&I (m|ksx)		 lwph&II (dsUæ)

	 A.	 [ksy dk lkeku	 1-	eqjknkckn

	 B.	 fn;kflykbZ	 2-	lgkjuiqj

	 C.	 ihry dk lkeku	 3-	esjB

	 D.	 ydM+h ij uDdk'kh	 4-	cjsyh

	 dwV%
		  A	 B	 C	 D
	 (a)	 2	 4	 1	 3
	 (b)	 3	 4	 1	 2
	 (c)	 1	 2	 3	 4
	 (d)	 3	 4	 2	 1

	110-	fuEufyf[kr esa ls fdl o"kZ es la;qDr jk"Vª la?k us ̂ ije 

xjhch* dh ifjHkk"kk vaxhÑr dh Fkh\

	 (a)	 1994	 (b)	 1995

	 (c)	 1996	 (d)	 1997

	106.	 Arrange the following schemes launched by 
Government of India in chronological order and 
choose the correct answer from the codes given 
below :

	 I.	 Sukanya Samriddhi Yojana

	 II.	 Atal Pension Yojana

	 III.	 Make in India

	 IV.	 Pradhan Mantri Jan-Dhan Yojana

		  Codes :
	 (a)	 IV, III , II and I	 (b)	 I, II, III and IV

	 (c)	 III, II, I and IV	 (d)	 IV, I, II and III

	107.	 Rashtriya Swasthya Bima Yojana launched under 
Social Security Act 2008 covers :

	 (a)	 only organized sector workers

	 (b)	 only rural workers

	 (c)	 only unorganized sector workers

	 (d)	 all category of workers

	108.	 The target to reduce Infant Mortality Rate (IMR) 
during eleventh plan period was kept at

	 (a)	 27 per 1000 live birth

	 (b)	 28 per 1000 live birth

	 (c)	 29 per 1000 live birth

	 (d)	 30 per 1000 live birth

	109.	 Match List I with List II and select the correct 
answer from the code given below the lists :

		  List I (Industry)		  List II (Centre)

	 A.	 Sports goods	 1.	 Moradabad

	 B.	 Match box	 2.	 Saharanpur

	 C.	 Brass ware	 3.	 Meerut

	 D.	 Wood carving	 4.	 Bareilly

		  Codes :
		  A	 B	 C	 D

	 (a)	 2	 4	 1	 3

	 (b)	 3	 4	 1	 2

	 (c)	 1	 2	 3	 4

	 (d)	 3	 4	 2	 1

	110.	 In which year UNO adopted a definition of absolute 
poverty?

	 (a)	 1994	 (b)	 1995

	 (c)	 1996	 (d)	 1997
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	111-	fuEufyf[kr esa ls dkSu ,d oYMZ bdksukWfed iQksje }kjk 
^Xykscy tsaMj xSi baMsDl* (oSf'od fyax lwpdkad) ds 
vkydu gsrq çkpy ds :i ç;qDr ugha gksrk gS

	 (a)	 LokLF;	 (b)	 f'k{kk
	 (c)	 vkfFkZd fLFkfr	 (d)	 vkjke

	112-	Hkkjr ljdkj }kjk çkjEHk dh xbZ Lons'k n'kZu ;kstuk* 
es fuEufyf[kr esa ls fdl i;ZVd pØ dk fodkl 
lfEefyr ugha gS\

	 (a)	 fojklr pØ	 (b)	 lwiQh pØ
	 (c)	 jkek;.k pØ	 (d)	 rVh; pØ
	113-	1 vçSy] 2017 ls çHkkoh mÙkj çns'k esa vdq'ky Jfed 

dh U;wure etnwjh fuf'pr dh xbZ gS%
	 (a)	 ₹ 7000 çfr ekg	 (b)	 ₹ 7400 çfr ekg
	 (c)	 ₹ 7800 çfr ekg	 (d)	 ₹ 8200 çfr ekg
	114-	fuEufyf[kr esa ls dkSu ,d jkT; vkfFkZd n`f"V ls lcls 

Åij fdUrq fyaxkuqikr d vkèkkj ij lcls uhps gS\
	 (a)	 eè; çns'k	 (b)	 egkjk"Vª
	 (c)	 if'pe caxky	 (d)	 gfj;k.kk
	115-	us'kuy iQSfeyh loZs gsYFk 3 ds vuqlkj Hkkjr esa LokLFk 

ns[kHkky d eq[; lzksr fpfdRlk dk futh {ks=k gS%
	 (a)	 'kgjh {ks=k ds 50» dqVqEcksa dk

	 (b)	 'kgjh {ks=k ds 60» dqVqEcksa dk

	 (c)	 'kgjh {ks=k ds 70» dqVqEcksa dk

	 (d)	 'kgjh {ks=k ds 80» dqVqEcksa dk

	116-	^ÅtkZ xaxk* ifj;kstuk ds fy;s fuEufyf[kr es ls dkSu 
ls dFku lgh gS\

	 1-	 ;g xSl ikbi ykbu ifj;kstuk gSA

	 2-	 bls vDVwcj 2016 es çkjEHk fd;k x;kA

	 3-	 ;g bZjku ls Hkkjr rd iQSyh gSA

	 	lgh mÙkj uhps fy[ks dwV ls pqfu;s%
	 dwV%

	 (a)	 dsoy 2 rFkk 3 lgh gSA

	 (b)	 dsoy 1 rFkk 2 lgh gSA

	 (c)	 dsoy 1 rFkk 3 lgh gSA

	 (d)	 lHkh 1] 2 rFkk 3 lgh gSA

	117-	fuEu esa ls dkSu lqesfyr ugha gS\
		  ;kstuk		  mís';

	 (a)	 mn;	 &	 fo|qr forj.k djus okyh 	
(;w-Mh-,-okbZ)	 	 daifu;ksa dk foÙk iks"k.k

	 (b)	 ân; (,p-vkj-	 &	 fojklr okys 'kgjksa dk 	
vkbZ-Mh-,-okbZ-)	 	 laj{k.k ,oa iquthZou

	 (c)	 ve`r (,-,e-	 &	 'kgjksa esa ewyHkwr lajpuk 	
vkj-;w-Vh-)	 	 lqèkkj

	 (d)	 LoPN Hkkjr	 &	 'kq¼ is; ty

	 	 fe'ku

	111.	 Which among the following is not a parameter for 
estimating Global Gender Gap Index of World 
Economic Forum?

	 (a)	 Health	 (b)	 Education
	 (c)	 Economy	 (d)	 Leisure
	112.	 Swadesh Darshan Scheme launched by Government 

of India does not include development of which 
of the following tourist circuit?

	 (a)	 Heritage circuit	 (b)	 Sufi circuit
	 (c)	 Ramayan circuit	 (d)	 Coastal circuit
	113.	 With affect from 1 April, 2017 the minimum wage 

for unskilled labour in Uttar Pradesh has been fixed 
at :

	 (a)	 ₹ 7000 per month	 (b)	 ₹ 7400 per month
	 (c)	 ₹ 7800 per month	 (d)	 ₹ 8200 per month
	114.	 Which one of the following states is ranked 

economically at the top but lowest on the basis of 
sex ratio?

	 (a)	 Madhya Pradesh	 (b)	 Maharashtra
	 (c)	 West Bengal	 (d)	 Haryana
	115.	 According to the National Family Health Survey 

3, private medical sector is the primary source of 
health care in India for :

	 (a)	 50% households in urban areas
	 (b)	 60% households in urban areas
	 (c)	 70% households in urban areas
	 (d)	 80% households in urban areas
	116.	 Which among the following statements are true 

about ‘Urja Ganga’ project?
	 1.	 It is a gas pipe line project
	 2.	 It was launched in October 2016
	 3.	 It runs from Iran to India
		  Choose the correct answer from the code given 

below :
		  Codes :
	 (a)	 Only 2 and 3 are correct
	 (b)	 Only 1 and 2 are correct
	 (c)	 Only 1 and 3 are correct
	 (d)	 All 1, 2 and 3 are correct
	117.	 Which of the following is not correctly matched?
		  Scheme		  Aim
	 (a)	 UDAY	 –	� Improving finances of 

power distribution 
companies

	 (b)	 HRIDAY	 –	� preserving and 
revitalizing heritage 
cities

	 (c)	 AMRUT	 –	� Improving basic urban 
infrastructure in cities

	 (d)	 Swachch Bharat	–	 Safe drinking water
		  Mission
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	118-	vkfFkZd loZs{k.k 2015&16 ds vuqlkj fuEufyf[kr esa 

ls fdls Hkkjrh; vFkZO;oLFkk dk ^pØO;wg pqukSrh* euk 

x;k gS\

	 (a)	 Hkkjrh; vFkZO;oLFkk dk lektokn ls iw¡thokn 

dh vkSj tkuk

	 (b)	 Hkkjrh; vFkZO;oLFkk dk lektokn ls fuxZeu 

lfgr lhfer cktkjokn dh vkSj tkuk

	 (c)	 Hkkjrh; vFkZO;oLFkk dk lektokn ls fuxZeu 

jfgr lhfer cktkjokn dh vkSj tkuk

	 (d)	 Hkkjrh; vFkZO;oLFkk dk fefJr lektokn 

vFkZO;oLFkk ls iw¡thokn dh vkSj tkuk

	119-	fuEu ;kstukvks ij fopkj dhft;s rFkk mUgsa vkjaHk gksus 

ds dkyØekuqlkj O;ofLFkr dhft;s%

	 (a)	 çèkkuea=kh tu&èku ;kstuk

	 (b)	 fMftVy tsaMj ,Vyl iQkWj ,MokfUlax xYlZ 

,tqds'ku bu bafM;k

	 (c)	 çèkkuea=kh lqj{kk chek ;kstuk

	 (d)	 eqæk cSad ;kstuk

	 	uhps fn;s x;s dwVksa ls lgh mÙkj pqfu;s%

	 (a)	 1] 2] 4 rFkk 3	 (b)	 3] 2] 1 rFkk 4

	 (c)	 2] 1] 3 rFkk 4	 (d)	 3] 1] 2 rFkk 4

	120-	;wusLdks ds rÙokèkku esa lkekftd fodkl ij çFke fo'o 

f'k[kj lEesyu dgk¡ ij vk;ksftr fd;k x;k Fkk\

	 (a)	 yanu	 (b)	 U;w;kWdZ

	 (c)	 isfjl	 (d)	 dksisugsxsu

	121-	fuEufyf[kr esa ls lefUor cky fodkl lsok (vkbZ-lh-

Mh-,l-) ;kstuk ds vUrxZr dkSu&lh lsok ugha çnku 

gksrh gS\

	 (a)	 iwjd vkgkj

	 (b)	 jksx çfrj{k.k

	 (c)	 cPpks dks fu%'kqYd iqLrd ,oa fo|ky; iks'kkd 

dk forj.k

	 (d)	 3&6 o"kZ dh vk;q ds cPpks dks LokLFk ,o iks"k.k 

f'k{kk

	122-	fuEufyf[kr esa ls dkSu&lk ns'k iQhiQk dkaiQsMjs'kal di 

2017 dk fot;h ns'k Fkk\

	 (a)	 phyh	 (b)	 teZuh

	 (c)	 esfDldks	 (d)	 iqrxkZy

	118.	 As per the Economic Survey 2015 – 16, which one 
of the following has been constructed as the 
Chakravyuha Challenge of the Indian economy?

	 (a)	 Movement of Indian Economy from 
socialism to capitalism

	 (b)	 Movement of Indian Economy from 
socialism with limited entry to marketism 
with exit

	 (c)	 Movement of Indian Economy from 
socialism with limited entry to marketism 
without exit

	 (d)	 Movement of Indian Economy from mixed 
economy to capitalism

	119.	 Consider the following schemes and arrange these 
in chronological order of their launching :

	 1.	 Pradhan Mantri Jan Dhan Yojana

	 2.	 Digital Gender Atlas for Advancing Girls 
Education in India.

	 3.	 Pradhan Mantri Suraksha Bima Yojana.

	 4.	 Mudra Bank Yojana

		  Select the correct answer from the codes given 
below :

	 (a)	 1, 2, 4 and 3	 (b)	 3, 2, 1 and 4

	 (c)	 2, 1, 3 and 4	 (d)	 3, 1, 2 and 4

	120.	 Where was the first world summit on social 
development under the aegis of UNESCO held?

	 (a)	 London	 (b)	 New York

	 (c)	 Paris	 (d)	 Copenhagen

	121.	 Which among the following services is not 
provided under Integrated Child Development 
Services (ICDS) scheme?

	 (a)	 Supplementary feeding

	 (b)	 Immunisation

	 (c)	 Distribution of freebooks and school dress 
to the children

	 (d)	 Health and Nutrition Education to 3-6 year 
old children

	122.	 Which one of the following countries was the 
winner of FIFA confederations cup 2017?

	 (a)	 Chile	 (b)	 Germany

	 (c)	 Mexico	 (d)	 Portugal
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	123-	th&20 f'k[kj lEesyu ds lacaèk esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 12ok¡ th&20 f'k[kj lEesyu teZuh esa lEiu 
gqvk FkkA

	 2-	 13ok¡ th&20 f'k[kj lEesyu phu esa laiUu gksxkA

	 3-	 14ok¡ th&20 f'k[kj lEesyu tkiku esa lEiUu 
gksxk

	 	mi;ZqDr esa ls dkSu ls dFku lgh gS\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1] 2 vkSj 3

	124-	efgyk ,d fnolh; vUrjkZ"Vªh; fddsV esa ferkyh jkt 
ds çn'kZu ds lacaèk esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s %

	 1-	 lcls igys 6000 ju cukus dk Js; mUgsa tkrk 
gSA

	 2-	 mUgksaus vius çFke eSp esa 'krd cuk;kA

	 3-	 yxkrkj 7 vèkZ'krd cukus dk fjdkWMZ muds uke 
gSA

	 4-	 lokZfèkd 'krd cukus dk fo'o fjdkWMZ muds 
uke gSA

	 	mi;ZqDr esa ls dFku lgh gS %

	 (a)	 dsoy 1] 2 rFkk 3	 (b)	 dsoy 1] 3 rFkk 4

	 (c)	 dsoy 1] 2 rFkk 4	 (d)	 dsoy 3 rFkk 4

	125-	fuEufyf[kr ns'kksa esa fdlus Hkkjr rFkk ;w-,l-,- ds lkFk 
tqykbZ 2017 esa ekykckj ukSlsfud vH;kl esa Hkkx fy;k 
Fkk\

	 (a)	 tkiku	 (b)	 nf{k.k dksfj;k

	 (c)	 Úkal	 (d)	 fiQyhihal

	126-	^lrr fodkl y{;* 2017 ds lwpdkad esa Hkkjr dk 
dkSu lk LFkku gS\

	 (a)	 116ok¡	 (b)	 125ok¡

	 (c)	 108ok¡	 (d)	 95ok¡

	127-	ns'k ds çFke lkS;Z lw;Z ÅtkZ ;qDr fMCcksa okyh Msew Vªsu 
dks 14 tqykbZ 2017 dks ykap fd;k x;k Fkk%

	 (a)	 ljk; jksfgYyk jsyos LVs'ku ij

	 (b)	 ubZ fnYyh jsyos LVs'ku ij

	 (c)	 liQnjtax jsyos LVs'ku ij

	 (d)	 fnYyh dSUV jsyos LVs'ku ij

	128-	fuEufyf[kr esa ls fdl Hkkjrh; oSKkfud dks ^Ý;wpj* 
oxZ esa 2017 dk MSu MsfoM iq#Ldkj fn;k x;k Fkk\

	 (a)	 æks.kejktw ds- jko	 (b)	 fceku ckxph

	 (c)	 lh-,u-vkj- jko	 (d)	 Jhfuokl dqyd.khZ

	123.	 Consider the following statements regarding G-20 
summits :

	 1.	 The 12th G-20 summit was held in Germany.

	 2.	 The 13th G-20 summit will be held in China.

	 3.	 The 14th G-20 summit will be held in Japan.

		  Of the above the correct statements are :
	 (a)	 1 and 2 only	 (b)	 1 and 3 only

	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	124.	 Consider the following statements regarding the 
performance of Mithali Raj in women’s One Day 
International Cricket :

	 1.	 She is the first ever to score more than 6000 
runs.

	 2.	 She scored a century on her debut.

	 3.	 She holds the record for scoring 7 consecutive 
half centuries.

	 4.	 She holds the world record for scoring 
highest number of centuries.

		  Of the above, the correct statements are :
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only

	 (c)	 1, 2 and 4 only	 (d)	 3 and 4 only

	125.	 Which one of the following countries joined India 
and USA in the Malabar naval exercise held in July 
2017?

	 (a)	 Japan	 (b)	 South Korea

	 (c)	 France	 (d)	 Philippines

	126.	 What is India’s rank in the 2017 Sustainable 
Development Goal Index?

	 (a)	 116th	 (b)	 125th

	 (c)	 108th	 (d)	 95th

	127.	 The first DEMU train of India with solar powered 
coaches was launched on 14th July, 2017 at :

	 (a)	 Sarai Rohilla Railway Station

	 (b)	 New Delhi Railway Station

	 (c)	 Safdarjung Railway Station

	 (d)	 Delhi Cantt. Railway Station

	128.	 Who among the following Indian scientists was 
awarded the 2017 Dan David prize in ‘future’ 
category?

	 (a)	 Dronamraju K.Rao	 (b)	 Biman Bagchi

	 (c)	 C.N.R. Rao	 (d)	 Shrinivas Kulkarni



23

	129-	fuEufyf[kr esa ls fdl jkT; esa tkikuh bUlsiQsykbfVl 
vuqlaèkku dsaæ LFkkfir fd;k tkus okyk gS\

	 (a)	 eè; çns'k	 (b)	 jktLFkku

	 (c)	 mÙkj çns'k	 (d)	 iatkc

	130-	Hkkjr esa lcls cM+k ekus tkus okys oSf'od dkS'ky ikdZ 
dh vkèkkjf'kyk tqykbZ 2017 esa j[kh xbZA

	 (a)	 y[kumQ esa	 (b)	 csaxyq: esa

	 (c)	 Hkksiky esa	 (d)	 t;iqj esa

	131-	twu 2017 esa ̂ ekuo lalkèku ea=kky;* }kjk xfBr jk"Vªh; 
f'k{kk uhfr iSuy ds vè;{k gS %

	 (a)	 ds-ts- vYiQksat

	 (b)	 jke 'kadj dqjhy

	 (c)	 ds- dLrwjh jatu

	 (d)	 ,e-ds- Jhèkj

	132-	ebZ 2017 esa mV~?kkVu fd, x, ^<ksyk&lfn;k* iqy dh 
yackbZ yxHkx gS%

	 (a)	 12-15 fd-eh-	 (b)	 11-15 fd-eh-

	 (c)	 10-15 fd-eh-	 (d)	 9-15 fd-eh-

	133-	Hkkjr dh çFke lseh gkbZ LihM Vªsu ^rstl* pysxh%
	 (a)	 nknj rFkk dkeFks ds chpA

	 (b)	 Fkk.ks rFkk dksykM ds chpA

	 (c)	 eqacbZ rFkk dekZyh ds chpA

	 (d)	 eqacbZ rFkk iq.ks ds chpA

	134-	'ka?kkbZ lg;ksx laxBu dk f'k[kj lEesyu ftles Hkkjr 
dks iw.kZ lnL; ds :i esa 'kkfey fd;k x;k] lEiUu 
gqvk Fkk %

	 (a)	 miQk esa	 (b)	 Mq'kkUcs esa

	 (c)	 rk'kdan esa	 (d)	 vLrkuk esa

	135-	9osa fczDl f'k[kj lEesyu dk estcku ns'k gS%
	 (a)	 phu	 (b)	 :l

	 (c)	 czkthy	 (d)	 nf{k.k vÚhdk

	136-	'kgjh fodkl ea=kky; }kjk ebZ 2017 esa tkjh dh lwph 
ds vuqlkj fuEufyf[kr esa ls fdl 'kgj dks lokZfèkd 
xank 'kgj dk ntkZ fn;k x;k\

	 (a)	 esjB	 (b)	 xkft;kckn

	 (c)	 xksaMk	 (d)	 'kkgtgk¡iqj

	137-	fuEufyf[kr esa ls fdls 2016 ds ljLorh lEeku ls 
lEekfur fd;k x;k gS\

	 (a)	 in~ek lpnso

	 (b)	 xksfoUn feJ

	 (c)	 lqjthr ikVj

	 (d)	 egkcys'oj lSy

	129.	 A Japanese Encephalities Research Centre is to be 
set up in :

	 (a)	 Madhya Pradesh	 (b)	 Uttar Pradesh
	 (c)	 Rajasthan	 (d)	 Punjab
	130.	 The foundation of what is being claimed as India’s 

biggest Global skill park was laid in July 2017 in
	 (a)	 Lucknow	 (b)	 Bengaluru
	 (c)	 Bhopal	 (d)	 Jaipur
	131.	 Who heads the panel on National Education Policy 

constituted in June 2017 by the Human Resource 
Development Ministry?

	 (a)	 K.J.Alphonse
	 (b)	 Ram Shankar Kureel
	 (c)	 K. Kasturiranjan
	 (d)	 M.K.Shridhar
	132.	 The length of the Dhola – Sadia bridge inaugurated 

in May 2017 is around
	 (a)	 12.15 km	 (b)	 11.15 km
	 (c)	 10.15 km	 (d)	 9.15 km
	133.	 India’s first semi-high speed train ‘Tejas’ will run 

between :
	 (a)	 Dadar and Kamthe
	 (b)	 Thane and Kolad
	 (c)	 Mumbai and Karmali
	 (d)	 Mumbai and Pune
	134.	 The Shanghai Cooperation Organization summit 

in which India, was inducted as a full member was 
held at

	 (a)	 Ufa	 (b)	 Dushanbe
	 (c)	 Tashkent	 (d)	 Astana
	135.	 The host country of the 9th BRICS summit is :
	 (a)	 China	 (b)	 Russia
	 (c)	 Brazil	 (d)	 South Africa
	136.	 Which one of the following cities was ranked the 

dirties by the Urban Development Ministry in a 
list released in May 2017?

	 (a)	 Meerut	 (b)	 Ghaziabad
	 (c)	 Gonda	 (d)	 Shahjahanpur
	137.	 Who among the following has been honoured with 

the 2016 ‘Saraswati Samman’?
	 (a)	 Padma Sachdev
	 (b)	 Govind Mishra
	 (c)	 Surjit Paatar
	 (d)	 Mahabaleshwar Sail
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	138-	fo'o tula[;k fnol 2017 dh fo"k; oLrq gS%
	 (a)	 ch-dkmUVsM % ls okV~ ;w uhM

	 (b)	 buosfLVax bu Vhust xYlZ

	 (c)	 oyujscy ikWiqys'ku bu bejtsalh

	 (d)	 iQsfeyh Iykfuax % bEikofjax ihiqy Msoyfiax 
us'kUl

	139-	;w-,u- lLVsuscy MssosyesaV lkWY;w'kUl usVodZ }kjk 2017 
esa çdkf'kr fo'o çlUurk fjiksVZ ds vuqlkj] fuEufyf[kr 
esa ls dkSu&lk ns'k fo'o esa lok±x :i ls lokZfèkd 
çlUu gS\

	 (a)	 vkblySaM	 (b)	 MsuekdZ

	 (c)	 fLoV~tjySaM	 (d)	 ukWoZs
	140-	foÙk o"kZ 2017&18 ds la?k ljdkj ds ctV dh nl 

eq[; fo"k;oLrqvksa esa ls fuEufyf[kr esa ls dkSu&lh 
lEefyr ugha gS\

	 (a)	 fu;kZr fu"iknu

	 (b)	 xjhc ,oa vYi lqfoèkk çkIr yksx

	 (c)	 ;qok oxZ

	 (d)	 xzkeh.k tu leqnk;

	141-	btjk;y ,oa fiQfyLrhu ds eè; 'kfUr okrkZ gsrq 
vUrjkZ"Vªh; lEeysu 2017 esa fuEufyf[kr esa ls dgk¡ 
gqvk Fkk\

	 (a)	 tsusok esa	 (b)	 okf'kaxVu esa
	 (c)	 isfjl esa	 (d)	 cfyZu esa
	142-	vkWLVsfy;kbZ vksiu cSVfeaVu lqijflfjt esa iq#"k ,dy 

dk f[krkc ftrus okyk çFke Hkjrh; dkSu gS\
	 (a)	 ,l- çhukFk	 (b)	 ds- JhdkUr

	 (c)	 ,p-,l- ç.k;	 (d)	 ih- iknqdks.k

	143-	lwph&I dks lwph&II ls lqesfyr dhft;s vkSj lwfp;ksa ds 
uhps fn;s x, dwV ls lgh mÙkj pqfu;s%

		  lwph&I (laLFkku)		 lwph&II ('kgj)
	 A.	 ou vuqlaèkku laLFkku	 1-	tksèkiqj

	 B.	 Hkkjrh; pkjkxkg ,oa	 2-	ubZ fnYyh

	 	 pkjk vuqlaèkku laLFkku

	 C.	 dsaæh; 'kq"d {ks=k	 3-	nsgjknwu

	 	 vuqlaèkku laLFkku

	 D.	 Hkkjrh; Ñf"k	 4-	>kalh

	 	 vuqlaèkku laLFkku

	 dwV%
		  A	 B	 C	 D
	 (a)	 2	 4	 1	 3
	 (b)	 3	 4	 1	 2
	 (c)	 1	 3	 2	 4
	 (d)	 4	 2	 3	 1

	138.	 What has been the theme of the 2017 World 
Population Day?

	 (a)	 Be counted : Say what you need
	 (b)	 Investing in teenage girls
	 (c)	 Vulnerable population in emergency
	 (d)	 Family planning : Empowering people, 

Developing Nations
	139.	 According to the World Happiness Report 

published by the U.N. Sustainable Development 
Solutions Network in 2017, which one of the 
following is the overall happiest country in the 
world?

	 (a)	 Iceland	 (b)	 Denmark
	 (c)	 Switzerland	 (d)	 Norway
	140.	 Which among the following is not included in the 

ten main themes of the Union budget for the 
financial years 2017-18?

	 (a)	 Export performance
	 (b)	 The poor and the underprivileged
	 (c)	 Youth
	 (d)	 Rural population
	141.	 Where was the International Conference for Peace 

talks between Israel and Palestine held in 2017?
	 (a)	 Geneva	 (b)	 Washington
	 (c)	 Paris	 (d)	 Berlin
	142.	 Who is the first Indian to win the Australian Open 

Badmintor superseries title in men’s singles?
	 (a)	 S. Preenath	 (b)	 K. Srikanth
	 (c)	 H.S. Prannoy	 (d)	 P. Padukone
	143.	 Match List I with List II and select the correct 

answer using the code given below the lists :
		  List – I (Institute)		  List – II (City)
	 A.	 Forest Research	 1.	 Jodhpur
		  Institute
	 B.	 Indian Grassland	 2.	 New Delhi
		  and Fodder Research
		  Institute
	 C.	 Central Arid Zone	 3.	 Dehradun
		  Research Institute
	 D.	 Indian Agricultural	 4.	 Jhansi
		  Research Institute
		  Codes :

		  A	 B	 C	 D
	 (a)	 2	 4	 1	 3
	 (b)	 3	 4	 1	 2
	 (c)	 1	 3	 2	 4
	 (d)	 4	 2	 3	 1
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	144-	fdl jkT; ljdkj us ljdkj dh miyfCèk;ksa dkss çnf'kZr 
djus ds fy;s osc vkèkkfjr eap çfrfcEc ekpZ 2017 
esa 'kq: dh%

	 (a)	 egkjk"Vª	 (b)	 eè; çns'k
	 (c)	 dukZVd	 (d)	 rfeyukMq
	145-	fuEufyf[kr esa ls dkSu&lk Hkkjr esa LFkkfir çFke jk"Vªh; 

m|ku gS\
	 (a)	 pUnksyh jk"Vªh; m|ku

	 (b)	 fte dkcZsV jk"Vªh; m|ku

	 (c)	 fxj ou jk"Vªh; m|ku

	 (d)	 nqèkok jk"Vªh; m|ku

	146-	vèkksfyf[kr esa ls dkSu&lk tho ls tSo eaMy rd 
tSfod laxBu dk lgh Øe gS\

	 (a)	 tula[;k→ifjfLrfFkd ra=k→leqnk;→Hkw&n`';

	 (b)	 Hkw&n`';→leqnk;→ifjfLrfFkd ra=k→tula[;k

	 (c)	 tula[;k→leqnk;→ifjfLrfFkd ra=k→Hkw&n`';

	 (d)	 tula[;k→Hkw&n`';→leqnk;→ifjfLrfFkd ra=k

	147-	fuEu esa ls dkSu&lk ra=k lgh lqesfyr ugha gS\
		  xzhu gkml		  xSl lzksr

	 (a)	 dkcZu MkbvkWDlkbM	 &	 FkeZy ikoj LVs'ku

	 (b)	 DyksjksÝywjks dkcZu	 &	 vkVkseksckby

	 (c)	 ukbVªl vkWDlkbM	 &	 tyeXu èkku ds [ksr

	 (d)	 lYiQj MkbvkWDlkbM	 &	 bZV ds HkV~Vs

	148-	gok esa rSjrs gq, 'oluh; lw{e d.kksa dk vkdkj gksrk 
gS %

	 (a)	 7 ekbØksu ls vfèkd

	 (b)	 6 ekbØksu ls vfèkd

	 (c)	 5 ekbØksu ls vfèkd

	 (d)	 5 ekbØksu ls de

	149-	mÙkj çns'k esa fdrus Ñf"k tyok;q {ks=k ik;s tkrs gS\
	 (a)	 3	 (b)	 6
	 (c)	 9	 (d)	 12
	150-	uhps nks oDrO; fn;s x, gSA
		 dFku (A)% Hkkjr esa tyk;q ifjorZu ls lkekftd ruko 

c<+ jgk gSA
		 dFku (R)% ekSle dh pje n'kk ls ckjacjrk ,oa rhozrk 

ls [kk| lqj{kk ij xaHkhj çHkko iM+saxsA
	 	uhps fn;s x, dwV }kjk lgh mÙkj pqfu;s %
	 dwV %
	 (a)	 (A) rFkk (R) nksuksa lgh gS rFkk (R), (A) dk 

lgh dkj.k gS

	 (b)	 (A) rFkk (R) nksuksa lgh gS rFkk (R), (A) dk 
lgh dkj.k ugha gS

	 (c)	 (A) lgh gS] fdUrq (R) xyr gS
	 (d)	 (A) xyr gS] fdUrq (R) lgh gS

	144.	 The web based platform ‘Pratibimba’ to project 
government’s achievements was launched in 
March 2017 by the government of :

	 (a)	 Maharashtra	 (b)	 Madhya Pradesh
	 (c)	 Karnataka	 (d)	 Tamil Nadu
	145.	 Which one of the following is the First National 

Park established in India?
	 (a)	 Chandoli National Park
	 (b)	 Jim Corbett National Park
	 (c)	 Gir Forest National Park
	 (d)	 Dudhwa National Park
	146.	 Which one of the following is the correct order of 

biological organization ranging from organism to 
biosphere?

	 (a)	 Population → Ecosystem → Community → 
Landscape

	 (b)	 Landscape → Community → Ecosystem → 
Population

	 (c)	 Population → Community → Ecosystem → 
Landscape

	 (d)	 Population → Landscape → Community → 
Ecosystem

	147.	 Which one of the following is not correctly 
matched?

		  Green House Gas	 –	 Source
	 (a)	 Carbon dioxide	 –	� Thermal  Power 

Stations
	 (b)	 Chloro fluro carbon	–	 Automobile
	 (c)	 Nitrous Oxide	 –	� Waterlogged Paddy 

fields
	 (d)	 Sulphur dioxide	 –	 Brick Kilns
	148.	 The size of the Respirable Suspended Particulate 

Matter (R.S.P.M) in air is :
	 (a)	 more than 7 μm (microne)
	 (b)	 more than 6 μm (microne)
	 (c)	 more than 5 μm (microne)
	 (d)	 less than 5 μm (microne)
	149.	 How many agro climatic zones are found in Uttar 

Pradesh?
	 (a)	 3	 (b)	 6
	 (c)	 9	 (d)	 12
	150.	 Given below are two statements :
		  Assertion (A) : Climate change is leading to 

increase in social tension in India.
		  Reason (R) : The frequency and intensity of the 

extreme weather events will have serious 
repercussions on food security.

		  Choose the correct answer from the code given 
below :

		  Codes :
	 (a)	 Both (A) and (R) are true and (R) is the 

correct reason of (A)
	 (b)	 Both (A) and (R) are true and (R) is not the 

correct reason of (A)
	 (c)	 (A) is true but (R) is false
	 (d)	 (A) is false but (R) is true


